STEERING & SUSPENSION
MANUFACTURER

LINGOLN

Np

Ball Joint Suspension Kit
Tie Rod End Bush
Axial Joint Tie Rod Assembly

Link Stabilizer Mounting

aUtO ACES Control Arm Streering Bellow
ASSOCIATION arreaner Center Rod Axle Bellow

Stabilizer Mounting

PCNENENEREE RW AUTOMOTIVE Il




Company Profile

\

/About Us

RIW is an organization that produces high quality suspension and steering parts for passenger cars and light commercial
vehicles in the automotive aftermarket industry. RIW aims to improve the automotive industry and benefit the
country's economy with the target of safely using the vehicle by the end user. As one of the widest range steering and
suspension parts manufacturer in the world, production and assembling facilities of RIW contains operations of the
following product lines in steering and suspension group for the aftermarket; ball joint, tie rod end, axial joint {(inner tie
rod), tie rod assembly, link stabilizer, center rot, control arm, wishbone, bush, mount and rubber products. As a result
of wide product range, high product quality, reasonable price and customer-focused studies, RIW takes the first place
among the largest spare parts company in Turkey. Through execution of Research and Development in the production
of the steering and suspension parts of passenger cars and light commercial vehicles, and at the most advanced and
technological conditions, RIW is Turkey's most modern spare parts manufacturer.

The culture of the company takes product quality, technological development and customer satisfaction as the priority;
therefore Automotive Aftermarket Industry use RIW brand product with confident. By taking advantage of latest
technology machining’s in its modern production facility, and also taking employee safety as the main principle in the
every stage of the production; from design to production, production to quality, packaging to delivery, marketing to
sales RIW has succeeded to be a respectable brand in more than 60 countries worldwide.

Mission

Providing the latest developed item to the market in high quality as the first in the aftermarket and improving product
guality in the every part of the World.

Vision

Spreading the "RIW Standards" which is made by advanced technology and aftermarket experiences to benefit the
whole world.

Production Strategy

RIW engineers control every stage of the production processes such as product design, mold design, machining, hot
and cold forging, aluminum forging, vertical and horizontal arm milling machining, control arm manufacturing, welding,
painting, coating and packaging, in its facilities separately. RIW accepts each stage of production as a different unit and
advocates the idea that in order to provide the fastest and highest quality product each unit should act as a separate
process during its planning for assembling and production. Hence, in this competitive market conditions where it is
difficult to reach large capital numbers, RIW invests in the direction of quality control and development.

In contrast to the mindset that every single step in the production is under one roof, RIW ensures that the raw materials
and semi-finished products are continuously inspected by experienced engineers and always keeps its quality under
control in each stage of the production process. With this system, thanks to the latest technology machinery and test
equipment used to apply quality testing at every stage, RIW always offers 100% controlled products to its customers
and both minimizes the risk of error to zero and aims to offer competitive prices to the customers by decreasing the
product costs.

Total Quality

RIW that aspires total quality approach has constantly increased its production capacity upon investments and quality
works made and has become a preferred brand in the world aftermarket. Acting with the awareness of being a
manufacturer of safety components, RIW actively exports its high-quality products too many countries located in
Europe, North Africa, Middle East, Australia, North and South America.

At all stages from the start to the end of production, RIW closely monitors and checks the quality of its products and
ensures that reliable and high quality products are offered to its customers. All tests and procedures are carried out by

highly experienced RIW engineers until they find the right quality to develop the aftermarket industry. /
N

WWW.riw.com.tr




Code Description

The codes which has 6 characters are suspension parts (Additional codes are exceptional) \
The codes which has 7 characters are rubber parts (Additional codes are exceptional)

There is no any specific code for Rod Assembly.

Rod Assembly codes are the combine of Tie Rod End and Axial Joint.

Same parts which are used at the different cars might have the same code.

PE6 001 )

AC ACURA DC DACIA IS ISUzZu LE LEYLAND PE_PEUGEOT| ] SM SMART
AF ALFAROMEO DW DAEWQO IV IVECO LC LINCOLN PO PORSCHE SY SSANGYONG

AU AUDI DH DAIHATSU JG JAGUAR LO LOTUS PR PROTON SU SUBARU
BW BMW DO DODGE JPJEEP MZ MAZDA RE RENAULT SZ SUZUKI

PE BU BUICK FI FIAT KI  KIA ME MERCEDES RR ROLLS-ROYCE TO TOYOTA
CD CADILLAC FO FORD LD LADA MC MINICOOPER RO ROVER VA VAUXHALL
CV CHEVROLET HN HONDA LR LANDROVER MI MITSUBISHI SA SAAB VW VOLKSWAGEN
CY CHRYSLER HY HYUNDAI LV LDV NS NISSAN SE SEAT VO VOLVO
Cl CITROEN IK IKCO LX LEXUS OP OPEL SK SKODA

1 BALLJOINT 7 CENTER ROD & DRAG LINK 23 TIE ROD ASSEMBLY
C 2 TIERODEND 8 SUSPENSION KITS 12 MOUNTING & RUBBER SUPPORT
6 3

AXIALJOINT (INNERTIEROD) 9 REARWISHBONE AND CONTROLARM 128 MOUNTING or RUBBER SUPPORTKIT

4 LINK STABILIZER 10 BUSH 13 BELLOW STEERING
5 CONTROLARM 11 BUSH 14 BELLOW DRIVE SHAFT
6 WISHBONE |l 118 REPAIR & BUSH KIT

Numbers

01 Any Number m

ADDITIONALS CODES AND MEANINGS

K K FORBALLJOINTS B B FOR WISHBONE and CONTROL ARMS
VW1012K 1=BALLJOINT K=WITHEXTRA ACCESSORIES BWS5005B 5=CONTROLARM B=WITHOUT BUSHING
VW1012 1=BALLJOINT BW5005 5=CONTROLARM (The similar as OE part)

) [ | K  KFORMOUNTINGS (RUBBER PARTS)
PE6001) 6=WISHBONE J=WITHOUT BALLJOINT CV12005K 12 = MOUNTING K =KIT, 2 PIECES or WITH EXTRA ACCESSORIES
PEBO0L  6=WISHBONE (The similarasthe OE part) CV12005 12=MOUNTING (The similar as OE part)

K K FORWISHBONES or CONTROL ARMS (5,6 or 9) A THE PRODUCT HAS DIFFERENT OPTION
BW6005K 6=WISHBONE K=WITHEXTRA ACCESSORIES FO4030A 4=LINKSTABILIZER A=OPTION (metal, rubber), plastic etc)
BW6005 6=WISHBONE FO4030 4=LINKSTABILIZER (The similar as OE part)

o ¥

WWW.riw.com.tr




RIW

LINCOLN

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

4 info@riw.com.tr



RIW

STEERING & SUSPENSION
MANUFACTURER

LINCOLN

AVIATOR 2003 - 2005

p

FO1048
BALL JOINT FRONT LOWER

FO1051
BALL JOINT REAR UPPER

FO1058
BALL JOINT FRONT LOWER

LC1001
BALL JOINT FRONT UPPER

LC1002
BALL JOINT FRONT LOWER

LC2001
TIE ROD END REAR OUTER

LC2002
TIE ROD END

LC2003
TIE ROD END

LC20012002
TIE ROD ASSEMBLY REAR

LC4017
LINK STABILIZER FRONT

LC6003

CONTROL ARM (WITH BALL JOINT)

FRONT UPPER RH

Weight : 0,598 kg /1.318 Ib
Ball Pin Thread Size : M16X1,5

Weight : 0,436 kg /0.961 Ib

Weight : 0,598 kg /1.318 Ib
Cone Size [mm] : @18,1

Ball Pin Thread Size : M16X1,5
Ball Joint Body Diameter : @44,5

Weight : 0,365 kg /0.805 Ib
Cone Size [mm] : @13,2

Ball Pin Thread Size : M12X1,75
Ball Joint Body Diameter : @43

Weight : 0,6 kg /1.323 Ib

Cone Size [mm] : §18,2

Ball Pin Thread Size : M16X1,5
Ball Joint Body Diameter : @44,6

Weight : 1,369 kg /3.018 Ib
Length : 585 mm /23.03 inch

Weight : 0,598 kg /1.318 Ib
Length : 123 mm /4.84 inch

Weight : 1,743 kg /3.843 Ib
Tie Rod End : LC2001
Axial Joint : LC2002

Weight : 0,514 kg /1.133 Ib
Material Type : Celik
Length : 145,5 mm /5.73 inch

Weight : 4,304 kg /9.489 Ib
Material Type : Sheet Metal

2L.3Z3050AA, 7L5Z3050A

BL5Z3050A, F5723050BB

MCF2233, YL2Z3050AA
ZZP034550C

1L2Z5500AC, 1L2Z5500AD

2L.3Z3050AA, 7L5Z3050A

BL5Z3050A, F5723050BB

MCF2233, YL2Z3050AA
Z7ZP034550C

1L2Z3084AA, 1L.2Z3085AA

F5723050BB, F5TZ3078A

F5TZ3079A, F6523078EJ

F6523078FE, F65Z3079EJ
F6523079FE, F67Z3078GA
F67Z3079GA, F6TZ3078GA

1L2Z5A972AB, 2L.2Z5A972AA

1L2Z5A972AB, 2L.2Z5A972AA

2C5Z3A130AA

1L2Z5A972AB*, 2L2Z5A972AA*

1L2Z3084AA

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

5

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER LINCOLN
__________________________________________________________________________________________________________|

AVIATOR 2003 - 2005
LCco004 Weight : 4,304 kg /9.489 Ib
eight : 4, g /9.
ﬁ CONTROL ARM (WITH BALL JOINT) | Material Type : Sheet Metal 1L223085AA
. FRONT UPPER LH

- FO11106 Chassis (Front Rean) R
assIs ron ear) . rRear
. BUSH FOR CONTROL ARM REAR | Position : Lower SL2Z5A649A
LOWER
LC11001 Chassis (Front / Rear) : Front
g BUSH FOR CONTROL ARM FRONT | Fosition - Upper S
UPPER Weight : 0,430 kg /0.948 Ib
Fo12219 Chassis (Front / Rear) : Front
assIs ron ear) . rron
1L2718183AA
STRUT MOUNTING FRONT Weight : 0,683 kg / 1.506 Ib 8183
2002 -
' S | 2L3Z3050AA, 7L5Z3050A
Weight : 0,598 kg /1.318 Ib BL5Z3050A, F57Z3050BB
BALL JOINT FRONT LOWER Ball Pin Thread Size : M16X1,5 MCF2233, YL2Z3050AA

ZZP034550C

FO1058

BALL JOINT FRONT LOWER

FO2067

&
&
-'ﬂ TIE ROD END

FO2085

TIE ROD END OUTER RH

FO2086

TIE ROD END OUTER LH

. FO2107

TIE ROD END

Weight : 0,598 kg /1.318 Ib
Cone Size [mm] : §18,1

Ball Pin Thread Size : M16X1,5
Ball Joint Body Diameter : @44,5

Weight : 0,860 kg / 1.896 Ib
Length : 225 mm / 8.86 inch

Weight : 0,730 kg /1.609 Ib
Length : 166 mm /6.54 inch

Weight : 0,730 kg /1.609 Ib
Length : 166 mm /6.54 inch

Weight : 0,770 kg /1.698 Ib
Length : 225,5 mm / 8.88 inch

2L.3Z3050AA, 7L5Z3050A

BL5Z3050A, F5723050BB

MCF2233, YL2Z3050AA
ZZP034550C

2L.3Z3A130CA, F65Z3A130CA

2L3Z3A130AA, F65Z3A130AA

2L3Z3A130BA, F65Z3A130BA

2L3Z3A131AA

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

6

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

BLACKWOOD

LINCOLN

2002 -

FO4071
. . d LINK STABILIZER FRONT

FO6115

WISHBONE (WITH BALL JOINT)
FRONT UPPER RH

FO6116

WISHBONE (WITH BALL JOINT)
FRONT UPPER LH

FO6142

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

FO6143

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

FO6146

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER RH

FO6147

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER LH

FO7001
IDLER ARM FRONT

FO11051
BUSH

FO11051K
BUSH KIT

'-1Avﬂvf

Weight : 0,256 kg / 0.564 Ib
Material Type : Bolt Type
Length : 183 mm /7.20 inch

Weight : 3,240 kg /7.143 Ib
Material Type : D6kim Celik

Weight : 3,240 kg /7.143 Ib
Material Type : Dokim Celik

Weight : 10,300 kg /22.708 Ib
Material Type : Sheet Metal

Weight : 10,300 kg /22.708 Ib
Material Type : Sheet Metal

Weight : 3,100 kg /6.834 Ib
Material Type : Forged Steel

Weight : 3,100 kg / 6.834 Ib
Material Type : Forged Steel

Chassis (Front / Rear) : Front
Weight : 2,727 kg /6.012 Ib

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.338 kg /0.745 Ib

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.676 kg /1.490 Ib
Note : 2 ADET KiT

6L3Z5495A, F6575495AC

5L373084B, F6523084AB
F75Z3084AA, XL3Z3084AA

5L373084B, F65Z3085AB
F75Z3085AA, XL3Z3085AA

1L3Z3078AA, 2L.3Z3078AB
6L3Z3078E, F65Z3078EK
F7523078EB, WC110220

1L3Z3079AA, 2L.3Z3079AB
6L3Z3079E, F65Z3079EK
F7523079EB, WC110219

5L373084C, F6523084BA
F75Z3084BA, XL3Z3084BA

5L3Z3085C, F6523085BA
F7523085BA, XL3Z3085BA

1L3Z3350AA, 1L.3Z3350AB
88876021, F65Z3350AA
F75Z3350AB, F8523350AA

F65Z3069AA, K8721A

FB65Z3069AA*, F65Z3069AA
K8721A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

7

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

CONTINENTAL

IX

LINCOLN

1995 - 2002

™

?——3
9

CONTINENTAL

FO1053
BALL JOINT FRONT LOWER

LC2004
TIE ROD END

LC3004
AXIAL JOINT

FO4073
LINK STABILIZER FRONT RH

FO4074
LINK STABILIZER FRONT LH

LC4001
LINK STABILIZER REAR RH

LC4001A
LINK STABILIZER REAR RH

LC4002
LINK STABILIZER REAR LH

LC4002A
LINK STABILIZER REAR LH

.

Weight : 0,354 kg /0.780 Ib

Weight : 0,610 kg /1.345Ib
Length : 91 mm /3.58 inch

Weight : 0,748 kg /1.649 Ib
Length : 332 mm /13.07 inch

Weight : 0,494 kg /1.089 Ib
Material Type : Celik
Length : 272 mm /10.71 inch

Weight : 0,494 kg / 1.089 Ib
Material Type : Celik
Length : 272 mm /10.71 inch

Weight : 0,240 kg /0.529 Ib
Material Type : Plastic
Length : 197 mm /7.76 inch

Weight : 0,385 kg /0.849 Ib
Material Type : Celik
Length : 196 mm /7.72 inch

Weight : 0,240 kg /0.529 Ib
Material Type : Plastic
Length : 197 mm /7.76 inch

Weight : 0,385 kg /0.849 Ib
Material Type : Celik
Length : 196 mm /7.72 inch

Vv

5F1Z3050A, 5F1Z3V050A
F50Y3K185A, F50Y3K186A
FE6DZ3K185A, F6DZ3K186A
XF1Z3050AA

1F3Z3A130A, F50Y3A130A
F50Y3A130A

F50Y3280A, F50Z3280BA

1F1Z5K484AA, 1F1Z5K484BA

2F1Z5K484BA, 3F1Z5K484A

3F1Z5K484AA, F5Y05K484A
F5YO5K484A

1F1Z5K483AA, 1F1Z5K483BA

3F1Z5K483A, 3F1Z5K483AA

F5YO5K483A, F70Z5K483AA
F70OZ5K483AA

F50Y5A486A, F50Z5A486A

F50Y5A486A, F50Z5A486A

F50Y5A486B, F50Z5A486B

F50Y5A486B, F50Z5A486B

1970 - 1979

CV4056

' . .. LINK STABILIZER FRONT

Weight : 0,182 kg /0.401 Ib
Material Type : Bolt Type

Length : 1955 mm /7.70 inch

25784241

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

8

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

CONTINENTAL

\'

LINCOLN

1970 - 1979

FO11113

BUSH FOR CONTROL ARM FRONT
UPPER

FO11113K
' ' BUSH KIT FOR CONTROL ARM
FRONT UPPER

CONTINENTAL

Chassis (Front / Rear) : Front
Position : Upper
Weight : 0.133 kg /0.293 Ib

Chassis (Front / Rear) : Front
Position : Upper
Weight : 0.266 kg / 0.586 Ib

Vi

C8AZ3068A, CBOA3068A

C80A3068B, D1SZ3068A

D3AA3068A, D3AA3068AA
D3AZ3068A

C8AZ3068A, CBOA3068A

C80A3068B, D1SZ3068A

D3AA3068A, D3AA3068AA
D3AZ3068A

1980 - 1981

FO2077
TIE ROD END OUTER

FO2089
TIE ROD END INNER
i!

FO7002
IDLER ARM FRONT

FO11056

BUSH FOR CONTROL ARM UPPER
SMALL

FO11057

BUSH FOR CONTROL ARM UPPER
BIG

FO11058K

BUSH FOR CONTROL ARM UPPER
SMALL AND BIG (KIT)

L4 |

CONTINENTAL

Weight : 0,450 kg /0.992 Ib
Length : 71,1 mm /2.80 inch

Weight : 0,561 kg /1.237 Ib
Length : 165 mm /6.50 inch

Chassis (Front / Rear) : Front
Weight : 1,165 kg /2.568 Ib

Position : Upper Left And Right
Weight : 0.181 kg /0.399 Ib

Position : Upper Left And Right
Weight: 0.2 kg /0.441 Ib

Position : Upper Left And Right
Weight : 0.381 kg /0.840 Ib
Note : BURC KIT

Vil

2W7Z3A130A, 2W7Z3A130AA
DOAZ3A130A, F3AZ3A130A
FS5AZ3A130A

2WT7Z3A131A, 2W7Z3A131AA
DOAZ3A131A, F5AZ3A131A

DOAZ3355A, EQAZ3355A

D9AZ3068A*, D9AZ3068A

D9AZ3068A**, DIAZ3068A

D9AZ3068A

1982 - 1987

£}

4 CV4053
r . LINK STABILIZER FRONT

&

Weight : 0,300 kg /0.661 Ib
Material Type : Bolt Type
Length : 240 mm /9.45 inch

15835052, 6L2Z5K484BA

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

9

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

CONTINENTAL

LINCOLN

Vi 1982 - 1987

FO4079
Bl LINK STABILIZER REAR

FO4080
o

LINK STABILIZER FRONT

CONTINENTAL

Weight : 0,276 kg / 0.608 Ib
Material Type : Bolt Type
Length : 288 mm /11.34 inch

E6DZ5A486A, EO9DZ5A486A

Weight : 0,322 kg /0.710 Ib
Material Type : Bolt Type
Length : 233,5 mm /9.19 inch

D8BZ5A486A, EGLY5A486A
E6ZZ5A486A, F1ZZ5A486A

VI 1988 - 1994

FO3052
- —
AXIAL JOINT
FO4076
LINK STABILIZER FRONT
FO4079
[ e

LINK STABILIZER REAR

CONTINENTAL

Weight : 0,583 kg /1.285 Ib

E6DZ3280A, F6SZ3280BA
Length : 338 mm /13.31 inch 6DZ3280A, F6S23280

Weight : 0,478 kg / 1.054 Ib
Material Type : Celik

Length : 265 mm /10.43 inch
Ball Pin Thread Size : M12X1,75

E6DZ5K484A, FADZ5K484A
F78Z5K483AA

Weight : 0,276 kg / 0.608 Ib
Material Type : Bolt Type
Length : 288 mm /11.34 inch

E6DZ5A486A, EODZ5A486A

X 2017 - 2020

FO4097
LINK STABILIZER REAR

* L3

>—d

FO4097A
LINK STABILIZER REAR

FO9030
CONTROL ARM REAR LOWER

FO9034
CONTROL ARM REAR UPPER RH

/
~

Weight : 0,261 kg / 0.575 Ib
Material Type : Aluminum
Length : 120,5 mm /4.74 inch

F2GZ5C486A

Weight : 0,340 kg /0.750 Ib
Material Type : Celik
Length : 120 mm /4.72 inch

2463429, 5295981
F2C5C486AXC, F2GC5C486AXB
F2GZ5C466A

Weight : 1,049 kg /2.313 Ib
Material Type : Sheet Metal

E1GZ5K898A, FR3Z5K898A
FR3Z5K898B, G3GZ5K898A

Weight : 2,243 kg /4.945 |b

E1GZ V4 D
Material Type : Dokiim Celik GZ5500C, G3GZ5500

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

10 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

CONTINENTAL X

LINCOLN

2017 - 2020

"

CORSAIR

FO9035
CONTROL ARM REAR UPPER LH

FO9058
CONTROL ARM REAR RH

FO9059
CONTROL ARM REAR LH

FO11093

BUSH FOR CONTROL ARM REAR
UPPER

FO11145

BUSHING FOR CONTROL ARM
REAR LOWER

FO11159

BUSH FOR CONTROL ARM REAR
UPPER

Weight : 2,243 kg /4.945 Ib
Material Type : D6kim Celik

Weight : 1,655 kg /3.649 Ib
Material Type : Sheet Metal

Weight : 1,655 kg / 3.649 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Position : Upper
Weight : 0,295 kg / 0.650 Ib

Chassis (Front / Rear) : Rear
Position : Lower
Weight : 0,320 kg /0.705 Ib

Chassis (Front / Rear) : Rear
Position : Upper
Weight : 0,395 kg /0.871 Ib

E1GZ5500D, G3GZ5500E

5309139, E1GC5500AXA
E1GZ5500A, G3GZ5500F

5309161, E1GC5501AXA
E1GZ5500B, G3GZ5500G

E1GZ5500C*, E1GZ5500D*
FR375500C*, FR325500D*

5197081, DG9C5K898AXE*
DG9C5K89AXE™, FR3Z5K898A*

5309139, 5309161
E1GC5500AXA, E1GC5501AXA
E1GZ5500A, E1GZ5500B
E1GZ5500C, E1GZ5500D
G3GZ5500G

2020 -

-

,

LS

FO2108
TIE ROD END RH

FO2109
TIE ROD END LH

Weight : 0,545 kg /1.202 Ib

Weight : 0,545 kg /1.202 Ib

2500065, LX6C3289AB
LX6Z3A130A

2500067, LX6C3290AB
LX6Z3A130B

2000 - 2007

JG1008
BALL JOINT FRONT LOWER

Weight : 0,685 kg /1.510 Ib

6W4Z3K185AA, 6W4Z3K186AA
K500085

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

11

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

LS

LINCOLN

2000 - 2007

LC2007
TIE ROD END RH

—~
L
—
==
—d
v

o Ve

o

LC2008
TIE ROD END LH

JG3002
AXIAL JOINT

JG4002
LINK STABILIZER REAR RH

JG4003
LINK STABILIZER REAR LH

JG4005
LINK STABILIZER FRONT

JG6008
CONTROL ARM FRONT LOWER RH

JG6009
CONTROL ARM FRONT LOWER LH

JG6012

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER RH

JG6013

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER LH

JG6014

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER RH

Weight : 0,890 kg /1.962 Ib
Length : 209 mm /8.23 inch

Weight : 0,890 kg /1.962 Ib
Length : 209 mm /8.23 inch

Weight : 0,460 kg /1.014 Ib
Length : 208 mm /8.19 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

Weight : 0,379 kg /0.836 Ib
Material Type : Celik

Length : 220 mm / 8.66 inch
Ball Pin Thread Size : M10X1,5

Weight : 0,379 kg /0.836 Ib
Material Type : Celik

Length : 220 mm / 8.66 inch
Ball Pin Thread Size : M10X1,5

Weight : 0,295 kg / 0.650 Ib
Material Type : Celik

Length : 137 mm /5.39 inch
Ball Pin Thread Size : M10X1,5

Weight : 4,145 kg /9.138 Ib
Material Type : Aluminum

Weight : 4,145 kg /9.138 Ib
Material Type : Aluminum

Weight : 1,480 kg /3.263 Ib
Material Type : Aluminum

Weight : 1,480 kg /3.263 Ib
Material Type : Aluminum

Weight : 0,905 kg /1.995 Ib
Material Type : Aluminum

3W4Z3A130AA, XR81770
XW4Z3A130AA

3W4Z3A130AB, XR81771
XW4Z23A1302Z

C2C14898, C2C14899
C2C29620, C2C29621

C2C18571, XR81692
XW425C486AB

C2C18572, XR81693
XW4z5C487AB

XR827071, XR855185

2W4Z3078AA, XR851824

XR851825, XW4Z3079AA

1W435K742AA, 2R835K742AA
2R835K742AC, 6W4Z-5500-AA
8X235K742AB, 8X235K742AD
C2C6776, C2C9213
C2D36810, C2D45608

1W435K743AA, 2R835K743AA
2R835K743AD, 6W4Z-5500-AB
8X235K743AB, 8X235K743AD
C2C6777, C2C9219
C2D36811, C2D45610

2W933084AE, 2W933084AF
2W933084AG, 2W933084AH
2W933084AJ, 2W933084AK
2W933084AL, C2C26080
C2C27987, C2C3664

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

12

info@riw.com.tr



RIW

LS

STEERING & SUSPENSION
MANUFACTURER

LINCOLN

2000 - 2007

2W933091AE, 2W933091AF
2W933091AG, 2W933091AH
2W933091AJ, 2W933091AK
2W933091AL, C2C26081
C2C27997, C2C3665

e

JG6015

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER LH

JG9010
CONTROL ARM REAR LOWER RH

JG9011
CONTROL ARM REAR LOWER LH

JG10003

BUSH FOR CONTROL ARM REAR
LOWER

JG10004

BUSH FOR CONTROL ARM REAR
LOWER

JG10005

BUSH FOR CONTROL ARM FRONT
UPPER

JG11004

BUSH INNER FOR CONTROL ARM
FRONT LOWER

JG11005

BUSH OUTER FOR CONTROL ARM
FRONT LOWER

JG11008

BUSH FOR CONTROL ARM FRONT
UPPER

JG11009

BUSH FOR CONTROL ARM FRONT
UPPER

Weight : 0,905 kg /1.995 Ib
Material Type : Aluminum

Weight : 4,525 kg /9.976 Ib
Material Type : Aluminum

Weight : 4,525 kg /9.976 Ib
Material Type : Aluminum

Chassis (Front / Rear) : Rear
Position : Lower
Weight : 0,375 kg /0.827 Ib

Chassis (Front / Rear) : Rear
Position : Lower
Weight : 0,385 kg /0.849 Ib

Chassis (Front / Rear) : Front
Position : Upper
Weight : 0,255 kg / 0.562 Ib

Chassis (Front / Rear) : Front
Position : Lower Inner
Weight : 0,085 kg /0.187 Ib

Chassis (Front / Rear) : Front
Position : Lower Outer
Weight : 0,460 kg /1.014 Ib

Chassis (Front / Rear) : Front
Position : Upper
Weight : 0,145 kg /0.320 Ib

Chassis (Front / Rear) : Front
Position : Upper

Weight : 0,115 kg /0.254 Ib
Material Type : Aluminum

2R835B530BB, 2R835B530BC
2R835B530BD, C2C10435
C2P3409, XR829471
XR835B530AA, XR88759
XWA4Z5A649AA

2R835B531BB, 2R835B531BC
2R835B531BD, C2C10437
XR829472, XR835B531AA
XR848941, XR88760
XW4Z25A64927

C2C10435*, C2C10437*
C2D25220%, C2D25221*
C2D3028*, C2D3029*
C2D42387*, C2D42388*
C2P14467*, C2P14468*

XR88759*, XR88760*

1W435K742AA*, 1TW435K743AA*
2R835K742AA*, 2R835K742AC*
2R835K743AA*, 2R835K743AD*
6W4Z-5500-AA*, 6W4Z-5500-AB*
8X235K742AB*, 8X235K742AD*

XR851824*, XR851825*

XR851824*, XR851825*

1W435K742AA*, 1TW435K743AA*
2R835K742AA*, 2R835K742AC*
2R835K743AA*, 2R835K743AD*
6W42-5500-AA*, 6W4Z-5500-AB*
8X235K742AB*, 8X235K742AD*

2W933084AE*, 2W933084AF*
2W933084AG*, 2W933084AH*
2W933084AJ*, 2W933084AK*
2W933084AL*, 2W933091AE*
2W933091AF*, 2W933091AG*

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

13

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MARK

LINCOLN

1969 - 1971

CV4056
LINK STABILIZER FRONT

MARK

Weight : 0,182 kg /0.401 Ib
Material Type : Bolt Type
Length : 195,5 mm /7.70 inch

v

25784241

1972 - 1976

QD

L A

MARK

CV4056
LINK STABILIZER FRONT

FO11113

BUSH FOR CONTROL ARM FRONT
UPPER

FO11113K

BUSH KIT FOR CONTROL ARM
FRONT UPPER

Weight : 0,182 kg /0.401 Ib
Material Type : Bolt Type
Length : 195,5 mm /7.70 inch

Chassis (Front / Rear) : Front
Position : Upper
Weight : 0.133 kg /0.293 Ib

Chassis (Front / Rear) : Front
Position : Upper
Weight : 0.266 kg /0.586 Ib

\'

25784241

C8AZ3068A, CBOA3068A

C80A3068B, D1SZ3068A

D3AA3068A, D3AA3068AA
D3AZ3068A

C8AZ3068A, CBOA3068A

C80A3068B, D1SZ3068A

D3AA3068A, D3AA3068AA
D3AZ3068A

1977 - 1979

D@

L B §

MARK

CV4056
LINK STABILIZER FRONT

FO11113

BUSH FOR CONTROL ARM FRONT
UPPER

FO11113K

BUSH KIT FOR CONTROL ARM
FRONT UPPER

FO2077
TIE ROD END OUTER

Weight : 0,182 kg /0.401 Ib
Material Type : Bolt Type
Length : 195,5 mm /7.70 inch

Chassis (Front / Rear) : Front
Position : Upper
Weight : 0.133 kg /0.293 Ib

Chassis (Front / Rear) : Front
Position : Upper
Weight : 0.266 kg / 0.586 Ib

Vi

Weight : 0,450 kg /0.992 Ib
Length : 71,1 mm /2.80 inch

25784241

C8AZ3068A, CBOA3068A

C80OA3068B, D1SZ3068A

D3AA3068A, D3AA3068AA
D3AZ3068A

C8AZ3068A, C8BOA3068A

C80A3068B, D1SZ3068A

D3AA3068A, D3AA3068AA
D3AZ3068A

1980 - 1983

2W7Z3A130A, 2W7Z3A130AA
DOAZ3A130A, F3AZ3A130A
FS5AZ3A130A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

14

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MARK

VI

LINCOLN

1980 - 1983

—
oy
L

L4 |

MARK

FO2089
TIE ROD END INNER

CV4056
LINK STABILIZER FRONT

FO7002
IDLER ARM FRONT

FO11056

BUSH FOR CONTROL ARM UPPER
SMALL

FO11057

BUSH FOR CONTROL ARM UPPER
BIG

FO11058K

BUSH FOR CONTROL ARM UPPER
SMALL AND BIG (KIT)

Weight : 0,561 kg /1.237 Ib
Length : 165 mm /6.50 inch

Weight : 0,182 kg /0.401 Ib
Material Type : Bolt Type
Length : 195,5 mm /7.70 inch

Chassis (Front / Rear) : Front
Weight : 1,165 kg /2.568 Ib

Position : Upper Left And Right
Weight : 0.181 kg /0.399 Ib

Position : Upper Left And Right
Weight : 0.2 kg /0.441 Ib

Position : Upper Left And Right
Weight : 0.381 kg /0.840 Ib
Note : BURC KIT

Vi

2WT7Z3A131A, 2W7Z3A131AA
DOAZ3A131A, F5AZ3A131A

25784241

DOAZ3355A, E9AZ3355A

DYAZ3068A*, D9AZ3068A

DO9AZ3068A**, DOAZ3068A

DOAZ3068A

1984 - 1992

FO4079
LINK STABILIZER REAR

MARK

FO4080
LINK STABILIZER FRONT

Weight : 0,276 kg / 0.608 Ib
Material Type : Bolt Type
Length : 288 mm / 11.34 inch

Weight : 0,322 kg /0.710 Ib
Material Type : Bolt Type
Length : 233,5 mm /9.19 inch

Vil

E6DZ5A486A, E9DZ5A486A

D8BZ5A486A, EGLY5A486A
E6ZZ5A486A, F1ZZ5A486A

1980 - 1983

- —

FO3052
AXIAL JOINT

Weight : 0,583 kg /1.285 Ib
Length : 338 mm /13.31 inch

E6DZ3280A, F6SZ3280BA

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

15

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MARK

Vi

LINCOLN

1980 - 1983

CVv4043

““ . LINK STABILIZER FRONT

MARK LT

Weight : 0,314 kg /0.692 Ib
Material Type : Bolt Type
Length : 220 mm / 8.66 inch

15963924, 25747956
4656260AA, 6W1Z5664AA
FOVY5A486A, F1VY5664A

FAZZ5A486A

2005 - 2008

#

8

A

=4

| m—tma

e

FO1040
BALL JOINT FRONT LOWER

FO1064
BALL JOINT FRONT UPPER

LC1004
BALL JOINT FRONT LOWER

FO2078
TIE ROD END OUTER

FO3057
AXIAL JOINT

FO3058
AXIAL JOINT

FO4091
LINK STABILIZER FRONT

FO4092
LINK STABILIZER FRONT

FO6123

CONTROL ARM (WITH BALL JOINT)

FRONT UPPER RH

Weight : 0,68 kg / 1.499 Ib
Ball Pin Thread Size : M16X2,0
Ball Joint Body Diameter : @44

Weight : 0,500 kg /1.102 Ib

Weight : 0.695 kg /1.532 Ib

Weight : 0,598 kg /1.318 Ib
Length : 115 mm /4.53 inch

Weight : 0,810 kg /1.786 Ib
Length : 304,8 mm /12.00 inch

Weight : 0,860 kg / 1.896 Ib
Length : 343 mm /13.50 inch

Weight : 0,440 kg /0.970 Ib
Material Type : Celik
Length : 134 mm /5.28 inch

Weight : 0,460 kg /1.014 Ib
Material Type : Celik
Length : 154 mm /6.06 inch

Weight : 3,638 kg /8.020 Ib
Material Type : Forged Steel

7L1Z3050B, 9L3Z3050A
K500008

FL3Z3084B*, FL3Z3085B*

2L1Z3078CA, 2L1Z3079CA
6L1Z3078AA, 6L1Z3078BA
6L1Z3079AA, 6L1Z3079BA

4L3Z3A130CA

6L.373280B

6L3Z3280A

5L3Z5K483CA

5L3Z5K483DA

4L3Z3084AA, 4L.3Z3084AB

6L1Z3084BR, 6L3Z3084AR
7L1Z3084A, 9L3Z3084A
BL3Z3084A, EL3Z3084A
EL3Z3084B, FL3Z3084A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

16

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

LINCOLN

MARK LT 2005 - 2008

»

FO6124

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER LH

FO6163

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

FO6164

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

FO11084

BUSH FOR CONTROL ARM FRONT
UPPER

FO11084K

BUSH FOR CONTROL ARM FRONT
UPPER KIT

FO11096

BUSH OUTER FOR CONTROL ARM
FRONT LOWER

FO11097

BUSH INNER FOR CONTROL ARM
FRONT LOWER

FO12215
STRUT MOUNTING FRONT

Weight : 3,638 kg /8.020 Ib
Material Type : Forged Steel

Weight : 8,220 kg /18.122 Ib
Material Type : Aluminum

Weight : 8,220 kg /18.122 Ib
Material Type : Aluminum

Chassis (Front / Rear) : Front
Position : Front Upper
Weight : 0.376 kg /0.829 Ib

Chassis (Front / Rear) : Front
Position : Front Upper
Weight : 0.752 kg /1.658 Ib

Chassis (Front / Rear) : Front
Position : Lower Outer
Weight : 0,570 kg /1.257 Ib

Chassis (Front / Rear) : Front
Position : Lower Inner
Weight : 0,650 kg / 1.433 Ib

Chassis (Front / Rear) : Front
Weight : 1,888 kg /4.162 Ib

4L3Z3085AA, 4L3Z3085AB

6L1Z3085BR, 6L3Z3085AL
7L1Z3085A, 9L3Z3085A
BL3Z3085A, EL3Z3085A
EL3Z3085B, FL3Z3085A

41.3Z3078CA, 7L323078C

4L3Z3079CA, 7L3Z23079C

41L.3Z3084AB, 4L.3Z3085AB

6L3Z3084AR, 6L3Z3085AL
7L1Z3084A, 7L1Z3085A
9L3Z3084A, 9L3Z3085A

4L.3Z3084AB, 4L3Z3085AB

6L3Z3084AR, 6L3Z3085AL
7L1Z3084A, 7L1Z3085A
9L3Z3084A, 9L3Z3085A

41L.3Z23078CA, 4L.3Z3079CA
7L3Z3078C, 7L3Z3079C

4L.3Z23078CA, 4L.3Z23079CA
7L3Z3078C, 7L3Z3079C

4L3Z18A099AA, 6L3Z18A099BA
6L3Z18A099CA

MARKLT 2010 - 2014

FO2055
TIE ROD END RH

FO2056
TIE ROD END LH

Weight : 1,17 kg / 2.579 Ib

Weight : 1,17 kg /2.579 Ib
Length : 142 mm /5.59 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X2
Ball Pin Cone Diameter : 316

7L1Z3A130R

7L1Z3A130L

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

17

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MKS |

LINCOLN

2009 - 2012

11T is |

FO2076
TIE ROD END OUTER

Weight : 0,536 kg /1.182 Ib

5F9Z3A130AA, 8A5Z3A130A
9G1Z3A130A

FO3056 _
Weight : 0,658 kg /1.451 Ib AA5Z3280B, AABZ33280B
AXIAL JOINT Length : 285 mm /11.22 inch DG1Z3280A
Fo3062 Weight : 0,753 kg /1.660 Ib
eight : 0, g /1.
AXIAL JOINT Length : 318 mm /12.52 inch AABZ32808
FO4055

LINK STABILIZER REAR RH

FO4055A
LINK STABILIZER REAR RH

FO4056
LINK STABILIZER REAR LH

FO4056A
LINK STABILIZER REAR LH

Weight : 0.29 kg /0.639 Ib
Material Type : Aluminum

Weight : 0,29 kg /0.639 Ib
Material Type : Celik

Weight : 0.29 kg /0.639 Ib
Material Type : Aluminum

Weight : 0,29 kg /0.639 Ib
Material Type : Celik

AABZ5K484A, DG1Z5K484A

AABZ5K484A, DG1Z5K484A

AAB8Z5K484B, DG1Z5K484B

AABZ5K484B, DG1Z5K484B

FO4068 Weight : 0,620 kg / 1.367 Ib

LINK STABILIZER FRONT RH Material Type : Celik GG1Z5K484A
Length : 300 mm /11.81 inch

FO4069 Weight : 0,620 kg /1.367 Ib

LINK STABILIZER FRONT LH Material Type : Celik GG1Z5K483A
Length : 300 mm /11.81 inch

FO4113A Weight : 0,491 kg /1.082 Ib

LINK STABILIZER FRONT RH Material Type : Celik 8A8Z5K484A
Length : 318 mm /12.52 inch

FO4114A Weight : 0,491 kg /1.082 Ib
Material Type : Celik 8A8Z5K483A

LINK STABILIZER FRONT LH

Length : 318 mm /12.52 inch

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

18

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MKS

LINCOLN

2009 - 2012

MKS

FO6175

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

FO6175K

CONTROL ARM (WITH BALL JOINT
AND BIG BUSH) FRONT LOWER RH

FO6176

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

FO6176K

CONTROL ARM (WITH BALL JOINT
AND BIG BUSH) FRONT LOWER LH

Weight : 7,030 kg / 15.498 Ib
Material Type : D6kim Celik

Weight : 8,130 kg /17.924 Ib
Material Type : D6kim Celik

Weight : 7,030 kg / 15.498 Ib
Material Type : Dokim Celik

Weight : 8,130 kg /17.924 Ib
Material Type : D6kim Celik

11ST FACELIFT

9A573078A, BA5Z3078A

9A5Z3078A, BA5Z3078A

9A5Z3079A, BA5Z3079A

9A5Z3079A, BA5Z3079A

2013 - 2014

_._-Jt':

- —

W

FO2076
TIE ROD END OUTER

FO3029
AXIAL JOINT

FO3056
AXIAL JOINT

FO4055
LINK STABILIZER REAR RH

FO4055A
LINK STABILIZER REAR RH

FO4056
LINK STABILIZER REAR LH

Weight : 0,536 kg /1.182 Ib

Weight : 0,655 kg / 1.444 |b

Weight : 0,658 kg / 1.451 Ib
Length : 285 mm /11.22 inch

Weight : 0.29 kg /0.639 Ib
Material Type : Aluminum

Weight : 0,29 kg /0.639 Ib
Material Type : Celik

Weight : 0.29 kg /0.639 Ib
Material Type : Aluminum

5F9Z3A130AA, 8A5Z3A130A
9G1Z3A130A

BB5Z3280A

AA5Z3280B, AA5Z33280B
DG1Z3280A

AABZ5K484A, DG1Z5K484A

AABZ5K484A, DG1Z5K484A

AAB8Z5K484B, DG1Z5K484B

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

19

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MKS

11ST FACELIFT

LINCOLN

2013 - 2014

A

FO4056A Weight : 0,29 kg /0.639 Ib
eight : 0, g /0.

LINK STABILIZER REAR LH Material Type : Gelik PAGZEGEE, (DR 2B

FO4068 Weight : 0,620 kg /1.367 Ib

LINK STABILIZER FRONT RH Material Type : Celik GG1Z5K484A
Length : 300 mm /11.81 inch

FO4069 Weight : 0,620 kg / 1.367 Ib

LINK STABILIZER FRONT LH Material Type : Celik GG1Z5K483A
Length : 300 mm /11.81 inch

Weight : 7,805 kg /17.207 Ib DA5Z3078A, DA523078D

r, FO6177K
. CONTROL ARM (WITH BALL JOINT | Material Type : Dékiim Celik FA5Z3078A
] AND BIG BUSH) FRONT LOWER RH

FO6178K
"“ Weight : 7,805 kg / 17.207 Ib DA5Z3079A, DA5Z3079B
CONTROL ARM (WITH BALL JOINT | Material Type : D6kiim Celik FA5Z3079A
- AND BIG BUSH) FRONT LOWER LH

Chassis (Front / Rear) : Front

FO11099
t BUSH INNER FOR CONTROL ARM | Fosition : Lower Inner
FRONT LOWER Weight : 0,335 kg /0.739 Ib

FA5Z3078A*, FASZ3079A*

Q FO11100 gha.?SiS (lgon;:tRSeavr) : Front
W 4 osition : Dig ag .
: BUSH OUTER FOR CONTROL ARM | Other Side : FO11101 FA5Z3078A
FRONTLOWER RH Weight : 1,310 kg /2.888 Ib
O FO11101 ghaTSIS (I;‘On;:tRSeTr) - Front
o] osition : Dig o )
5 BUSH OUTER FOR CONTROL ARM | Other Side : FO11100 FA5Z3079A
FRONTLOWER LH Weight : 1,310 kg /2.888 Ib
MKS | 2ND FACELIFT 2015 - 2016
Product Code and Doscription
FO2076

S5F9Z3A130AA, 8A5Z3A130A
Weight : 0,536 kg /1.182 Ib

TIE ROD END OUTER 9G1Z3A130A
FO3029
—— AXIAL JOINT Weight : 0,655 kg / 1.444 Ib BB573280A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

20 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

LINCOLN

MKS | 2ND FACELIFT 2015 - 2016
FO3056

- . Weight : 0,658 kg / 1.451 Ib AA573280B, AA5Z33280B
AXIAL JOINT Length : 285 mm /11.22 inch DG1Z3280A
FO4055

LINK STABILIZER REAR RH

FO4055A
LINK STABILIZER REAR RH

FO4056
LINK STABILIZER REAR LH

FO4056A
LINK STABILIZER REAR LH

Weight : 0.29 kg /0.639 Ib
Material Type : Aluminum

Weight : 0,29 kg /0.639 Ib
Material Type : Celik

Weight : 0.29 kg /0.639 Ib
Material Type : Aluminum

Weight : 0,29 kg /0.639 Ib
Material Type : Celik

AABZ5K484A, DG1Z5K484A

AABZ5K484A, DG1Z5K484A

AAB8Z5K484B, DG1Z5K484B

AA8Z5K484B, DG1Z5K484B

FO4068 Weight : 0,620 kg / 1.367 Ib

LINK STABILIZER ERONT RH Material Type : Gelik GG1Z5K484A
Length : 300 mm /11.81 inch

FO4069 Weight : 0,620 kg /1.367 Ib
Material Type : Celik GG1Z5K483A

LINK STABILIZER FRONT LH

"
i
—
‘—i

Length : 300 mm /11.81 inch

FO6177K
Weight : 7,805 kg /17.207 Ib DA5Z3078A, DA523078D

CONTROL ARM (WITH BALL JOINT | Material Type : D8kiim Gelik FA5Z3078A

- AND BIG BUSH) FRONT LOWER RH

FO6178K
Weight : 7,805 kg /17.207 Ib DA5Z3079A, DA5Z3079B

CONTROL ARM (WITH BALL JOINT ' Material Type : Dokiim Gelik FA5Z3079A
AND BIG BUSH) FRONT LOWER LH

'
o

-
-
|

-

Chassis (Front / Rear) : Front

FO11099
: BUSH INNER FOR CONTROL ARM | F0sition : Lower Inner
FRONT LOWER Weight : 0,335 kg /0.739 Ib

FA5Z3078A*, FASZ3079A*

FO11100 Chassis (Front / Rear) : Front

Q-_, Position : Dis Alt Sag
- BUSH OUTER FOR CONTROL ARM ' Other Side : FO11101
FRONT LOWER RH

FA5Z3078A*
Weight : 1,310 kg /2.888 Ib

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

21 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER LINCOLN
__________________________________________________________________________________________________________|

MKS |1 2ND FACELIFT 2015 - 2016
FO11101 }(Dlha.?sis (I;r.on;:tRSe?r) : Front
O-_ osition : Dis o .
BUSH OUTER FOR CONTROL ARM | Other Side : FO11100 FASZ3079A
FRONTLOWER LH Weight : 1,310 kg /2.888 Ib
MKT 2010 - 2012

FeHI 5F9Z3A130AA, 8A5Z3A130A
TIE ROD END OUTER R OZER g iRl 9G1Z3A130A
FO3056 .
= . Weight : 0,658 kg / 1.451 Ib AA5Z3280B, AA5Z33280B
o AXIAL JOINT Length : 285 mm /11.22 inch DG1Z3280A
FO3062 Weight : 0,753 kg / 1.660 Ib
_ elg .0, g .
T — AA8Z3280B
AXIAL JOINT Length : 318 mm /12.52 inch
FO4055 Weight : 0.29 kg /0.639 Ib
eight : 0. g .
LINK STABILIZER REAR RH Material Type : Aluminum AABZ5KAB4A, DG1Z5KA484A
B
FO4035A Weight : 0,29 kg / 0.639 Ib
eight : 0, g /0.
LINK STABILIZER REAR RH Material Type : Celik AABZSKA84A, DG1Z25K4B4A
: FO4056 Weight : 0.29 kg /0.639 Ib
eight : 0. g /0.
” LINK STABILIZER REAR LH Material Type : Aluminum AABZ5K484B, DG1Z5K484B
|
FO4056A Weight : 0,29 kg /0.639 Ib
eight : 0, g /0.
LINK STABILIZER REAR LH Material Type : Celik AABZEK484B, DG125K4848
FO4068 Weight : 0,620 kg / 1.367 Ib
LINK STABILIZER FRONT RH Material Type : Celik GG1Z5K484A
Length : 300 mm /11.81 inch
FO4069 Weight : 0,620 kg / 1.367 Ib
LINK STABILIZER FRONT LH Material Type : Celik GG1Z5K483A
Length : 300 mm /11.81 inch

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

22 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MKT

LINCOLN

2010 - 2012

-

~
D
‘@

MKT

i
==F

FO6175

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

FO6175K

CONTROL ARM (WITH BALL JOINT
AND BIG BUSH) FRONT LOWER RH

FO6176

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

FO6176K

CONTROL ARM (WITH BALL JOINT
AND BIG BUSH) FRONT LOWER LH

FO11120

BUSH FOR CONTROL ARM FRONT
LOWER

FO2050
TIE ROD END

FO2076
TIE ROD END OUTER

FO3029
AXIAL JOINT

FO3056
AXIAL JOINT

FO4055
LINK STABILIZER REAR RH

Weight : 7,030 kg / 15.498 Ib
Material Type : Dokim Celik

Weight : 8,130 kg /17.924 Ib
Material Type : Dokim Celik

Weight : 7,030 kg / 15.498 Ib
Material Type : D6kim Celik

Weight : 8,130 kg /17.924 |b
Material Type : D6kim Celik

Chassis (Front / Rear) : Front
Position : Lower
Weight : 1,158 kg /2.553 Ib

11ST FACELIFT

Weight : 0,618 kg /1.362 Ib

Weight : 0,536 kg /1.182 Ib

Weight : 0,655 kg / 1.444 Ib

Weight : 0,658 kg /1.451 Ib
Length : 285 mm /11.22 inch

Weight : 0.29 kg /0.639 Ib
Material Type : Aluminum

9A573078A, BA5Z3078A

9A5Z3078A, BA5Z3078A

9A5Z3079A, BA5Z3079A

9A5Z3079A, BA5Z3079A

9G1Z3C339B, 9G123C403B

2013 - 2016

BB5Z3A130A, BB5Z3A130B

5F9Z3A130AA, 8A5Z3A130A
9G1Z3A130A

BB5Z3280A

AA573280B, AA5233280B
DG1Z3280A

AABZ5K484A, DG1Z5K484A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

23

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MKT

11ST FACELIFT

LINCOLN

2013 - 2016

L)

Ly
"
i
ey
'—i

™~
-

€

FO4055A
LINK STABILIZER REAR RH

FO4056
LINK STABILIZER REAR LH

FO4056A
LINK STABILIZER REAR LH

FO4068
LINK STABILIZER FRONT RH

FO4069
LINK STABILIZER FRONT LH

FO6177K

CONTROL ARM (WITH BALL JOINT
AND BIG BUSH) FRONT LOWER RH

FO6178K

CONTROL ARM (WITH BALL JOINT
AND BIG BUSH) FRONT LOWER LH

FO11099

BUSH INNER FOR CONTROL ARM
FRONT LOWER

FO11100

BUSH OUTER FOR CONTROL ARM
FRONT LOWER RH

FO11101

BUSH OUTER FOR CONTROL ARM
FRONT LOWER LH

Weight : 0,29 kg /0.639 Ib
Material Type : Celik

Weight : 0.29 kg /0.639 Ib
Material Type : Aluminum

Weight : 0,29 kg /0.639 Ib
Material Type : Celik

Weight : 0,620 kg / 1.367 Ib
Material Type : Celik
Length : 300 mm /11.81 inch

Weight : 0,620 kg / 1.367 Ib
Material Type : Celik
Length : 300 mm /11.81 inch

Weight : 7,805 kg / 17.207 Ib
Material Type : Dokim Celik

Weight : 7,805 kg /17.207 Ib
Material Type : D6kim Celik

Chassis (Front / Rear) : Front
Position : Lower Inner
Weight : 0,335 kg /0.739 Ib

Chassis (Front / Rear) : Front
Position : Dis Alt Sag

Other Side : FO11101
Weight : 1,310 kg /2.888 Ib

Chassis (Front / Rear) : Front
Position : Dis Alt Sol

Other Side : FO11100
Weight : 1,310 kg /2.888 Ib

AABZ5K484A, DG1Z5K484A

AA8Z5K484B, DG1Z5K484B

AABZ5K484B, DG1Z5K484B

GG1Z5K484A

GG1Z5K483A

DA5Z3078A, DA523078D
FA5Z3078A

DA5Z3079A, DA5Z3079B
FA5Z3079A

FA5Z3078A*, FA5Z3079A*

FA5Z3078A*

FA5Z3079A*

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

24

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MKT

| 2ND FACELIFT

LINCOLN

2017 - 2019

i
==

-—-'-

—
e
i
—
'—4’

FO2050
TIE ROD END

FO2076
TIE ROD END OUTER

FO3029
AXIAL JOINT

FO3056
AXIAL JOINT

FO4055
LINK STABILIZER REAR RH

FO4055A
LINK STABILIZER REAR RH

FO4056
LINK STABILIZER REAR LH

FO4056A
LINK STABILIZER REAR LH

FO4068
LINK STABILIZER FRONT RH

FO4069
LINK STABILIZER FRONT LH

Weight : 0,618 kg /1.362 Ib

Weight : 0,536 kg /1.182 Ib

Weight : 0,655 kg / 1.444 Ib

Weight : 0,658 kg / 1.451 Ib
Length : 285 mm /11.22 inch

Weight : 0.29 kg /0.639 Ib
Material Type : Aluminum

Weight : 0,29 kg /0.639 Ib
Material Type : Celik

Weight : 0.29 kg /0.639 Ib
Material Type : Aluminum

Weight : 0,29 kg /0.639 Ib
Material Type : Celik

Weight : 0,620 kg /1.367 Ib
Material Type : Celik
Length : 300 mm /11.81 inch

Weight : 0,620 kg /1.367 Ib
Material Type : Celik
Length : 300 mm /11.81 inch

BB5Z3A130A, BB5Z3A130B

5F9Z3A130AA, 8A5Z3A130A
9G1Z3A130A

BB5Z3280A

AA573280B, AA5233280B
DG1Z3280A

AABZ5K484A, DG1Z5K484A

AABZ5K484A, DG1Z5K484A

AABZ5K484B, DG1Z5K484B

AA8Z5K484B, DG1Z5K484B

GG1Z5K484A

GG1Z5K483A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

25

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MKX

LINCOLN

2007 - 2010

T

[JNLI11]) e

FO1039
BALL JOINT FRONT LOWER

FO2051
TIE ROD END RH

FO2052
TIE ROD END LH

FO3032
AXIAL JOINT

FO4040
LINK STABILIZER FRONT

FO4047
LINK STABILIZER REAR

FO5011

TRACK CONTROL ARM (WITH BALL

JOINT) FRONT LOWER

FO6087

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

FO6088

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

FO9018

TRACK CONTROL ARM REAR
UPPER

FO9062
CONTROL ARM REAR LOWER

Weight : 0,408 kg /0.899 Ib

Weight : 0,878 kg / 1.936 Ib
Length : 206 mm /8.11 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : @14,9

Weight : 0,878 kg / 1.936 Ib
Length : 206 mm /8.11 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : @14,9

Weight : 0,635 kg /1.400 Ib
Length : 220 mm / 8.66 inch
Body Thread Size : M22X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,268 kg /0.591 Ib
Material Type : Celik

Weight : 0,214 kg /0.472 Ib
Material Type : Celik

Material Type : Forged Steel

Weight : 6,29 kg / 13.867 Ib
Material Type : Sheet Metal

Weight : 6,29 kg / 13.867 Ib
Material Type : Sheet Metal

Weight : 1,4 kg /3.086 Ib
Material Type : Dékim Celik

Weight : 1,005 kg /2.216 Ib
Material Type : Steel Tube

8T4Z3078A*, 8T4Z3078A-P
8T4Z3079A*, 8T4Z3079A-P

7TT433289AA, 7TT4Z3A130A

7T433290AA, 7T4Z3A130B

7T433280AA, 7T4Z3280A

7TT433B438AA, 7T4Z5K483A

TT4Z5A486AA, L20628170

7TE5Z3078R, AE5Z3078A
BE5Z3078A

8T4Z3078A

8T4Z3079A

7T4Z5500A

7T435B674AA, 7TT4Z5500AA
TD1128500A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

26

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MKX

LINCOLN

2007 - 2010

N

€4

MKX

FO11069

BUSH FOR TRACK CONTROL ARM
LOWER

FO11139

BUSH FOR CONTROL ARM REAR
UPPER

FO11140

BUSH FOR CONTROL ARM FRONT
LOWER

FO12220
STRUT MOUNTING FRONT

Chassis (Front / Rear) : Front

Position : Lower Left And Right

Weight : 0,255 kg / 0.562 Ib

Chassis (Front / Rear) : Rear
Position : Upper
Weight : 0,196 kg /0.432 Ib

Chassis (Front / Rear) : Front
Position : Lower
Weight : 0,303 kg / 0.668 Ib

Chassis (Front / Rear) : Front
Weight : 1,260 kg /2.778 Ib

7E5Z3078R-P, AE5Z3078A-P

BE5Z3078A-P, Part Of 7TE5Z3078R

Part Of AE5Z3078A, part of
BE5Z3078A

7T4Z5500A

7T4Z-3078-AR, 7T4Z-3079-AL
8T4Z-3078-A, 8T4Z-3079-A

7T4Z18183A, 8A4Z18183A
8A4718183B

2016 - 2018

e

FO3045
AXIAL JOINT

FO4097
LINK STABILIZER REAR

FO4097A
LINK STABILIZER REAR

FO6196

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

FO6197

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

FO9030
CONTROL ARM REAR LOWER

Weight : 0,464 kg /1.023 Ib
Length : 218,5 mm /8.60 inch

Weight : 0,261 kg /0.575 Ib
Material Type : Aluminum
Length : 120,5 mm /4.74 inch

Weight : 0,340 kg /0.750 Ib
Material Type : Celik
Length : 120 mm /4.72 inch

Weight : 5,605 kg /12.357 Ib
Material Type : Aluminum

Weight : 5,605 kg /12.357 Ib
Material Type : Aluminum

Weight : 1,049 kg /2.313 Ib
Material Type : Sheet Metal

DG9Z3280A, F2GZ3280A

F2GZ5C486A

2463429, 5295981
F2C5C486AXC, F2GC5C486AXB
F2GZ5C466A

F2GZ3078A, F2GZ3078B
F2GZ3078C, F2GZ3078H

F2GZ3079B, F2GZ3079C

E1GZ5K898A, FR3Z5K898A
FR3Z5K898B, G3GZ5K898A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

27

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MKX

LINCOLN

2016 - 2018

~

'
N
®

X

4
=
v

MKX

FO9034
CONTROL ARM REAR UPPER RH

FO9035
CONTROL ARM REAR UPPER LH

FO9058
CONTROL ARM REAR RH

FO9059
CONTROL ARM REAR LH

FO11093

BUSH FOR CONTROL ARM REAR
UPPER

FO11142

BUSH SMALL FOR CONTROL ARM
FRONT LOWER

FO11143

BUSH BIG FOR CONTROL ARM
FRONT LOWER

FO11145

BUSHING FOR CONTROL ARM
REAR LOWER

FO11159

BUSH FOR CONTROL ARM REAR
UPPER

Weight : 2,243 kg /4.945 Ib
Material Type : D6kim Celik

Weight : 2,243 kg /4.945 Ib
Material Type : D6kim Celik

Weight : 1,655 kg / 3.649 Ib
Material Type : Sheet Metal

Weight : 1,655 kg /3.649 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Position : Upper
Weight : 0,295 kg /0.650 Ib

Chassis (Front / Rear) : Front
Position : Lower Small
Weight : 0,565 kg /1.246 Ib

Chassis (Front / Rear) : Front
Position : Lower Big
Weight : 1,945 kg /4.288 Ib

Chassis (Front / Rear) : Rear
Position : Lower
Weight : 0,320 kg /0.705 Ib

Chassis (Front / Rear) : Rear
Position : Upper
Weight : 0,395 kg /0.871 Ib

FACELIFT

E1GZ5500C, G3GZ5500D

E1GZ5500D, G3GZ5500E

5309139, E1GC5500AXA
E1GZ5500A, G3GZ5500F

5309161, E1GC5501AXA
E1GZ5500B, G3GZ5500G

E1GZ5500C*, E1GZ5500D*
FR3z5500C*, FR325500D*

F2GZ3078B*, F2GZ3078C*
F2GZ3079B*, F2GZ3079C*

F2GZ3078B*, F2GZ3078C*
F2GZ3079B*, F2GZ3079C*

5197081, DG9C5K898AXE*
DG9C5K89AXE*, FR3Z5K898A*

5309139, 5309161
E1GC5500AXA, E1GC5501AXA
E1GZ5500A, E1GZ5500B
E1GZ5500C, E1GZ5500D
G3GZ5500G

2011 - 2015

<D

FO1039
BALL JOINT FRONT LOWER

Weight : 0,408 kg /0.899 Ib

8T4Z3078A*, 8T4Z3078A-P
8T4Z3079A%, 8T4Z3079A-P

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

28

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MKX

FACELIFT

LINCOLN

2011 - 2015

Weight : 0,878 kg /1.936 Ib
Length : 206 mm /8.11 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : 14,9

)
>

NS A RS

FO2051
TIE ROD END RH

FO2052
TIE ROD END LH

FO3032
AXIAL JOINT

FO4040
LINK STABILIZER FRONT

FO4047
LINK STABILIZER REAR

FO5011

TRACK CONTROL ARM (WITH BALL

JOINT) FRONT LOWER

FO6087

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

FO6088

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

FO9018

TRACK CONTROL ARM REAR
UPPER

FO9037
CONTROL ARM REAR UPPER

FO9056
CONTROL ARM REAR LOWER

Weight : 0,878 kg / 1.936 Ib
Length : 206 mm /8.11 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M12X1,25
Ball Pin Cone Diameter : @14,9

Weight : 0,635 kg / 1.400 Ib
Length : 220 mm / 8.66 inch
Body Thread Size : M22X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,268 kg / 0.591 Ib
Material Type : Celik

Weight : 0,214 kg /0.472 Ib
Material Type : Celik

Material Type : Forged Steel

Weight : 6,29 kg / 13.867 Ib
Material Type : Sheet Metal

Weight : 6,29 kg / 13.867 Ib
Material Type : Sheet Metal

Weight : 1,4 kg /3.086 Ib
Material Type : Dékim Celik

Weight : 2,120 kg /4.674 Ib
Material Type : Sheet Metal

Weight : 0,865 kg / 1.907 Ib
Material Type : Sheet Metal

7TT433289AA, 7TT4Z3A130A

7TT433290AA, 7T4Z3A130B

7T433280AA, 7T4Z3280A

7TT433B438AA, 7T4Z5K483A

TT4Z5A486AA, L20628170

7TE5Z3078R, AE5Z3078A
BE5Z3078A

8T4Z3078A

8T4Z3079A

7T4Z5500A

BT425500D, CT4Z5500B

CT4Z5500A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

29

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MKX

FACELIFT

LINCOLN

2011 - 2015

R

MKZ

FO9062
CONTROL ARM REAR LOWER

FO11069

BUSH FOR TRACK CONTROL ARM
LOWER

FO11137

BUSH SHORT FOR CONTROL ARM
REAR UPPER

FO11138

BUSH LONG FOR CONTROL ARM
REAR UPPER

FO11139

BUSH FOR CONTROL ARM REAR
UPPER

FO11140

BUSH FOR CONTROL ARM FRONT
LOWER

FO11141

BUSH FOR CONTROL ARM REAR
LOWER

Weight : 1,005 kg /2.216 Ib
Material Type : Steel Tube

Chassis (Front / Rear) : Front
Position : Lower Left And Right
Weight : 0,255 kg /0.562 Ib

Chassis (Front / Rear) : Rear
Position : Ust Kisa
Weight : 0,212 kg / 0.467 Ib

Chassis (Front / Rear) : Rear
Position : Ust Uzun
Weight : 0,471 kg /1.038 Ib

Chassis (Front / Rear) : Rear
Position : Upper
Weight : 0,196 kg /0.432 Ib

Chassis (Front / Rear) : Front
Position : Lower
Weight : 0,303 kg / 0.668 Ib

Chassis (Front / Rear) : Rear
Position : Lower
Weight : 0,250 kg /0.551 Ib

7T435B674AA, 7T4Z5500AA
TD1128500A

7E5Z3078R-P, AE5Z3078A-P
BE5Z3078A-P, Part Of 7E5Z3078R
Part Of AE5Z3078A, part of
BE5Z3078A

BT4Z5500D, CT4Z5500B
L206-28-C10, TD11-28-C10

BT425500D, CT4Z5500B

7T4Z5500A

7T4Z-3078-AR, 7T4Z-3079-AL
8T4Z-3078-A, 8T4Z-3079-A

CT4Z5500A

2006 - 2012

o

]

FO2053
TIE ROD END RH

FO2054
TIE ROD END LH

FO2100
TIE ROD END RH

Weight : 0,572 kg /1.261 Ib
Body Thread Size : M14X1,5

Ball Pin Thread Size : M12X1,25

Weight : 0,572 kg /1.261 Ib
Body Thread Size : M14X1,5

Ball Pin Thread Size : M12X1,25

Weight : 0,597 kg /1.316 Ib
Length : 145 mm /5.71 inch

AE5Z3A130B

AES5Z3A130A

AES5Z3A130C

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

30

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MKZ

LINCOLN

2006 - 2012

—
J
C

)\

FO2101
TIE ROD END LH

FO3054
AXIAL JOINT

FO4046
LINK STABILIZER FRONT

FO5011

TRACK CONTROL ARM (WITH BALL

JOINT) FRONT LOWER

FO6097

WISHBONE (WITH BALL JOINT)
FRONT UPPER RH

FO6098

WISHBONE (WITH BALL JOINT)
FRONT UPPER LH

FO9019

TRACK CONTROL ARM REAR
LOWER

MZ5002

TRACK CONTROL ARM (WITH BALL

JOINT) FRONT LOWER RH

MZ5003

TRACK CONTROL ARM (WITH BALL

JOINT) FRONT LOWER LH

MZ9004

TRACK CONTROL ARM REAR
UPPER

FO11046
BUSH FOR WISHBONE LOWER

Weight : 0,597 kg /1.316 Ib
Length : 145 mm /5.71 inch

Weight : 0,407 kg /0.897 Ib
Length : 179 mm / 7.05 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M14X1,5

Weight : 0,235 kg /0.518 Ib
Material Type : Celik

Material Type : Forged Steel

Weight : 1,427 kg /3.146 Ib
Material Type : Sheet Metal

Weight : 1,51 kg /3.329 Ib
Material Type : Sheet Metal

Weight : 0,95 kg /2.094 Ib
Material Type : Steel Tube

Weight : 4,030 kg /8.885 Ib
Material Type : Forged Steel

Weight : 4,030 kg /8.885 Ib
Material Type : Forged Steel

Weight : 1,5 kg /3.307 Ib
Material Type : Forged Steel

Position : Lower Left And Right
Weight : 0,514 kg /1.133 Ib

AE5Z3A130D

AES5Z3280A

AES5Z5K483A

7TE5Z3078R, AE5Z3078A
BE5Z3078A

AES5Z3084A

AES5Z3085A

9E5Z5500A, G26A28500A
G26A28500B, G62A28500B
GJ6A28500D, GK2A28500

5M8Z3078R, 6M8Z3078R
7TE5Z3078RA, BE523078B
GJ6A34J00B, GJ6A34J00C
GJ6A34J00D, GR1A34J00
GR1B34J00

5M8Z3079L, 6M823079L
7E5Z3079L, BE5Z3079A
GJ6A34J50B, GJ6A34J50C
GJ6A34J50D, GR1A34J50
GR1B34J50

6M8Z5500A, AE5Z5500A

G26A28C10, G89A28C10
GJ6A18C10A, GJ6A28C10A

GP9A28C10, GP9B28C10

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

31

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MKZ

LINCOLN

2006 - 2012

MKZ

N

FO11069

BUSH FOR TRACK CONTROL ARM Position : Lower Left And Right
LOWER Weight : 0,255 kg /0.562 Ib

Chassis (Front / Rear) : Front

MZ11029
Position : Left And Right

BUSH FOR TRACK CONTROL ARM | Weight : 0,15 kg /0.331 Ib
REAR

7TE5Z3078R-P, AE5Z3078A-P
BE5Z3078A-P, Part Of 7E5Z3078R
Part Of AE5Z3078A, part of
BE5Z3078A

G26A28C10*, GJ6A28C10A*
GP9A28C10*

2013 - 2020

FO2059 .

Weight : 0,802 kg /1.768 Ib
TIE ROD END RH Length : 59 mm /2.32 inch
FO2060 .

Weight : 0,802 kg /1.768 Ib
TIE ROD END LH Length : 618 mm /24.33 inch

FO3045
Weight : 0,464 kg /1.023 Ib
AXIAL JOINT Length : 218,5 mm / 8.60 inch

CV4029 Weight : 0,381 kg /0.840 Ib
Material Type : Celik

Length : 298 mm /11.73 inch
Ball Pin Thread Size : M12X1,75

LINK STABILIZER FRONT

FO4041 Weight : 0,41 kg /0.904 Ib
? - LINK STABILIZER FRONT Material Type : Celik
< Length : 300 mm /11.81 inch

‘.d
u LINK STABILIZER REAR

.
® | FO4097A
B

FO4097 Weight : 0,261 kg /0.575 Ib

LINK STABILIZER REAR Material Type : Aluminum
Length : 120,5 mm /4.74 inch

Weight : 0,340 kg /0.750 Ib
Material Type : Celik
Length : 120 mm /4.72 inch

FO6091 .

Weight : 4,918 kg /10.842 Ib
TRACK CONTROL ARM (WITH BALL | Material Type : Aluminum
JOINT) FRONT LOWER RH

DG9Z3A130A

DG9Z3A130B

DG9Z3280A, F2GZ3280A

15782690, 20784686

22608427, 22670300

22710286, 227610286
25846008

5182780, DG9C3B438ANC
DG9Z5K484A

F2GZ5C486A

2463429, 5295981
F2C5C486AXC, F2GC5C486AXB
F2GZ5C466A

1927131, 5303328
FG9C3A052ANB

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

32

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

MKZ

LINCOLN

2013 - 2020

-
N

NAUTILUS

FO6092

TRACK CONTROL ARM (WITH BALL
JOINT) FRONT LOWER LH

FO9021
CONTROL ARM REAR UPPER

FO9027
CONTROL ARM REAR

FO11079

BUSH SMALL FOR CONTROL ARM
LOWER

FO11080

BUSH BIG FOR CONTROL ARM
LOWER RH

FO11081

BUSH BIG FOR CONTROL ARM
LOWER LH

FO12160
ENGINE MOUNTING FRONT

Weight : 4,918 kg /10.842 Ib
Material Type : Aluminum

Weight : 1.608 kg / 3.545 Ib
Material Type : Sheet Metal

Weight : 0,756 kg / 1.667 Ib
Material Type : Steel Tube

Chassis (Front / Rear) : Front
Position : Lower Small
Weight : 0.558 kg /1.230 Ib

Chassis (Front / Rear) : Front
Position : Lower Right Large
Other Side : FO11081
Weight : 1.788 kg /3.942 Ib

Chassis (Front / Rear) : Front
Position : Lower Left Large
Other Side : FO11080
Weight : 1.788 kg /3.942 Ib

Chassis (Front / Rear) : Front
Weight : 3,063 kg /6.753 Ib

T —

1927132, 5303329
FGOC3A053ANB

DG9Z5500A

DG9Z5A972B

1927131%, 1927132*
5232480%, 5232481*
5303328*, 5303329*
FGOC-3A052-ANA*,
FG9C-3A053-ANA*

1927131%, 5232480
5303328*, FG9C-3A052-ANA*

1927132%, 5232481*
5303329*, FG9C-3A053-ANA*

DG926038C, DG9Z6038J

2019 -

FO4097
LINK STABILIZER REAR

*, =

>4

FO4097A
LINK STABILIZER REAR

FO6196

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

Weight : 0,261 kg /0.575 Ib
Material Type : Aluminum

Length : 120,5 mm /4.74 inch

Weight : 0,340 kg /0.750 Ib
Material Type : Celik
Length : 120 mm /4.72 inch

Weight : 5,605 kg /12.357 Ib

Material Type : Aluminum

F2GZ5C486A

2463429, 5295981
F2C5C486AXC, F2GC5C486AXB
F2GZ5C466A

F2GZ3078A, F2GZ3078B
F2GZ3078C, F2GZ3078H

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

33

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

NAUTILUS

LINCOLN

2019 -

&

~
S~
N
®
<

4

NAVIGATOR

FO6197

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

FO9034
CONTROL ARM REAR UPPER RH

FO9035
CONTROL ARM REAR UPPER LH

FO9058
CONTROL ARM REAR RH

FO9059
CONTROL ARM REAR LH

FO11093

BUSH FOR CONTROL ARM REAR
UPPER

FO11142

BUSH SMALL FOR CONTROL ARM
FRONT LOWER

FO11143

BUSH BIG FOR CONTROL ARM
FRONT LOWER

FO11159

BUSH FOR CONTROL ARM REAR
UPPER

FO1048
BALL JOINT FRONT LOWER

Weight : 5,605 kg /12.357 Ib
Material Type : Aluminum

Weight : 2,243 kg /4.945 Ib
Material Type : D6kim Celik

Weight : 2,243 kg /4.945 Ib
Material Type : Dokim Celik

Weight : 1,655 kg /3.649 Ib
Material Type : Sheet Metal

Weight : 1,655 kg / 3.649 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Position : Upper
Weight : 0,295 kg /0.650 Ib

Chassis (Front / Rear) : Front
Position : Lower Small
Weight : 0,565 kg / 1.246 Ib

Chassis (Front / Rear) : Front
Position : Lower Big
Weight : 1,945 kg /4.288 Ib

Chassis (Front / Rear) : Rear
Position : Upper
Weight : 0,395 kg /0.871 Ib

Weight : 0,598 kg /1.318 Ib

Ball Pin Thread Size : M16X1,5

F2GZ3079B, F2GZ3079C

E1GZ5500C, G3GZ5500D

E1GZ5500D, G3GZ5500E

5309139, E1GC5500AXA
E1GZ5500A, G3GZ5500F

5309161, E1GC5501AXA
E1GZ5500B, G3GZ5500G

E1GZ5500C*, E1GZ5500D*
FR3z5500C*, FR325500D*

F2GZ3078B*, F2GZ3078C*
F2GZ3079B*, F2GZ3079C*

F2GZz3078B*, F2GZ3078C*
F2GZ3079B*, F2GZ3079C*

5309139, 5309161
E1GC5500AXA, E1GC5501AXA
E1GZ5500A, E1GZ5500B
E1GZ5500C, E1GZ5500D
G3GZ5500G

1998 - 2002

2L3Z3050AA, 7L5Z3050A

BL5Z3050A, F57Z3050BB

MCF2233, YL2Z3050AA
Z7ZP034550C

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

34

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

NAVIGATOR

LINCOLN

1998 - 2002

| ]

FO1058
BALL JOINT FRONT LOWER

FO1059
BALL JOINT FRONT LOWER

LC1002
BALL JOINT FRONT LOWER

LC1003
BALL JOINT FRONT LOWER

FO2067
TIE ROD END

FO2085
TIE ROD END OUTER RH

FO2086
TIE ROD END OUTER LH

FO2107
TIE ROD END

FO3033
AXIAL JOINT

LC3006
AXIAL JOINT

LC3007
AXIAL JOINT

Weight : 0,598 kg /1.318 Ib
Cone Size [mm] : §18,1

Ball Pin Thread Size : M16X1,5
Ball Joint Body Diameter : @44,5

Weight : 0,540 kg /1.190 Ib

Weight : 0,6 kg /1.323 Ib

Cone Size [mm] : @18,2

Ball Pin Thread Size : M16X1,5
Ball Joint Body Diameter : @44,6

Weight : 0,695 kg /1.532 Ib
Cone Size [mm] : @18

Ball Pin Thread Size : M16X2
Ball Joint Body Diameter : @44,5

Weight : 0,860 kg / 1.896 Ib
Length : 225 mm / 8.86 inch

Weight : 0,730 kg /1.609 Ib
Length : 166 mm /6.54 inch

Weight : 0,730 kg / 1.609 Ib
Length : 166 mm /6.54 inch

Weight : 0,770 kg /1.698 Ib
Length : 225,5 mm /8.88 inch

Weight : 0,69 kg /1.521 Ib
Length : 290 mm /11.42 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,674 kg /1.486 Ib
Length : 285.4 mm /11.24 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M16X1,5

Weight : 1,000 kg /2.205 Ib
Length : 279.8 mm /11.02 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

2L.3Z3050AA, 7L5Z3050A

BL5Z3050A, F57Z23050BB

MCF2233, YL2Z3050AA
Z7ZP034550C

2U2Z3V050A, F57Z3V050BB

F5723050BB, F5TZ3078A

F5TZ3079A, F6523078EJ

F6523078FE, F65Z3079EJ
F65Z3079FE, F67Z3078GA
F6723079GA, F6TZ3078GA

2L1Z3078CA, 2L1Z3079CA
6L1Z3078AA, 6L1Z3078BA
6L1Z3079AA, 6L1Z3079BA

2L3Z3A130CA, F65Z3A130CA

2L3Z3A130AA, F65Z3A130AA

2L.3Z3A130BA, F65Z3A130BA

2L3Z3A131AA

2L1Z3280FA, 2L1Z3280GA

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

35

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

NAVIGATOR |

LINCOLN

1998 - 2002

FO4071 Weight : 0,256 kg / 0.564 Ib
. Bt LINK STABILIZER FRONT Material Type : Bolt Type 6L.3Z5495A, F65Z5495AC
Length : 183 mm /7.20 inch
FO4078 Weight : 0,762 kg /1.680 Ib
-—._* LINK STABILIZER REAR Material Type : Celik YL1Z5K484AA
Length : 381 mm /15.00 inch
LC4018 Weight : 0,452 ki . I
8 eight : 0,452 kg /0.996 b 2108023, 2L1Z5K483AA

LINK STABILIZER FRONT

LC4019
LINK STABILIZER REAR

LC4020
LINK STABILIZER FRONT

FO6115

WISHBONE (WITH BALL JOINT)
FRONT UPPER RH

FO6116

WISHBONE (WITH BALL JOINT)
FRONT UPPER LH

FO6119

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

FO6120

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

FO6142

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

FO6143

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

p v AYCLLUT

Material Type : Celik
Length : 126 mm /4.96 inch

Weight : 0,413 kg /0.911 Ib
Material Type : Celik
Length : 114,5 mm /4.51 inch

Weight : 0,437 kg /0.963 Ib
Material Type : Celik
Length : 126 mm /4.96 inch

Note : LINCOLN NAVIGATOR: 2003 -->

Weight : 3,240 kg /7.143 Ib
Material Type : Dokim Celik

Weight : 3,240 kg /7.143 Ib
Material Type : D6kim Celik

Weight : 15,100 kg /33.290 Ib
Material Type : D6kim Celik

Weight : 15,100 kg /33.290 Ib
Material Type : D6kim Celik

Weight : 10,300 kg /22.708 Ib
Material Type : Sheet Metal

Weight : 10,300 kg /22.708 Ib
Material Type : Sheet Metal

2L1Z5K483AD, 2L1Z5K484AD

2L1Z5K484AB

5L373084B, F6523084AB
F75Z3084AA, XL3Z3084AA

5L.3Z3084B, F65Z3085AB
F75Z3085AA, XL3Z3085AA

1L3Z3078BA, 2L3Z3078BA
6L323078B, XL323078DB

1L3Z3079BA, 2L3Z3079BA
6L323079B, XL3Z3079DB

1L3Z3078AA, 2L.3Z3078AB
6L323078E, F65Z3078EK
F7523078EB, WC110220

1L3Z3079AA, 2L.3Z3079AB
6L3Z3079E, F65Z3079EK
F75Z23079EB, WC110219

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

36

info@riw.com.tr



RIW

NAVIGATOR

STEERING & SUSPENSION
MANUFACTURER

LINCOLN

1998 - 2002

NAVIGATOR

FO6146

CONTROL ARM (WITH BALL JOINT)

FRONT UPPER RH

FO6147

CONTROL ARM (WITH BALL JOINT)

FRONT UPPER LH

LC6001

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

LC6002

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

FO7001
IDLER ARM FRONT

FO11051
BUSH

FO11051K
BUSH KIT

FO11094

BUSH OUTER FOR CONTROL ARM

FRONT LOWER

FO11095

BUSH INNER FOR CONTROL ARM

FRONT LOWER

FO1048
BALL JOINT FRONT LOWER

Weight : 3,100 kg / 6.834 Ib
Material Type : Forged Steel

Weight : 3,100 kg /6.834 Ib
Material Type : Forged Steel

Weight : 8,500 kg /18.739 Ib
Material Type : Aluminum

Weight : 8,500 kg /18.739 Ib
Material Type : Aluminum

Chassis (Front / Rear) : Front
Weight : 2,727 kg /6.012 Ib

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.338 kg /0.745 Ib

Chassis (Front / Rear) : Front
Position : Left And Right
Weight : 0.676 kg / 1.490 Ib
Note : 2 ADET KiT

Chassis (Front / Rear) : Rear
Position : Lower Outer
Weight : 0,430 kg /0.948 Ib

Chassis (Front / Rear) : Front
Position : Lower Inner
Weight : 0,410 kg / 0.904 Ib

Weight : 0,598 kg /1.318 Ib

Ball Pin Thread Size : M16X1,5

5L373084C, F6523084BA
F7523084BA, XL3Z3084BA

5L373085C, F6523085BA
F75Z3085BA, XL3Z3085BA

2L1Z3078AB, 6L1Z3078AA
6L1Z3078BA

2L1Z3079BA, 2L1Z3079CA
6L1Z3079AA, 6L1Z3079BA

1L3Z3350AA, 1L.3Z3350AB
88876021, F65Z3350AA
F7523350AB, F85Z3350AA

F65Z3069AA, K8721A

FB65Z3069AA*, F65Z3069AA
K8721A

6L3Z3078B*, 6L.323079B*

6L.3Z3078B*, 6L.323079B*

2003 - 2006

2L3Z3050AA, 7L5Z3050A

BL5Z3050A, F57Z3050BB

MCF2233, YL2Z3050AA
Z7ZP034550C

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

37

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

NAVIGATOR

LINCOLN

2003 - 2006

F5723050BB, F5TZ3078A

F5TZ3079A, F65Z3078EJ

F6523078FE, F65Z3079EJ
F65Z3079FE, F67Z3078GA
F6723079GA, F6TZ3078GA

li:

-

NERE:

—
-
|

LC1002

BALL JOINT FRONT LOWER

LC1003

BALL JOINT FRONT LOWER

FO2075
TIE ROD END OUTER

FO3033
AXIAL JOINT

LC3006
AXIAL JOINT

LC3007
AXIAL JOINT

FO4072A
LINK STABILIZER REAR

FO4083
LINK STABILIZER REAR

LC4018
LINK STABILIZER FRONT

LC4019
LINK STABILIZER REAR

LC4020
LINK STABILIZER FRONT

Weight : 0,6 kg /1.323 Ib

Cone Size [mm] : §18,2

Ball Pin Thread Size : M16X1,5
Ball Joint Body Diameter : @44,6

Weight : 0,695 kg /1.532 Ib
Cone Size [mm] : 318

Ball Pin Thread Size : M16X2
Ball Joint Body Diameter : @44,5

Weight : 0.56 kg /1.235 Ib

Weight : 0,69 kg / 1.521 Ib
Length : 290 mm /11.42 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,674 kg / 1.486 Ib
Length : 285.4 mm /11.24 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M16X1,5

Weight : 1,000 kg /2.205 Ib
Length : 279.8 mm /11.02 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

Weight : 0,382 kg /0.842 Ib
Material Type : Celik

Length : 201 mm /7.91 inch
Ball Pin Thread Size : M10X1,5
Note : STEEL TYPE (METAL)

Weight : 0,442 kg /0.974 Ib
Material Type : Celik
Length : 110,4 mm /4.35 inch

Weight : 0,452 kg / 0.996 Ib
Material Type : Celik
Length : 126 mm /4.96 inch

Weight : 0,413 kg /0.911 Ib
Material Type : Celik
Length : 114,5 mm /4.51 inch

Weight : 0,437 kg /0.963 Ib
Material Type : Celik
Length : 126 mm /4.96 inch

Note : LINCOLN NAVIGATOR: 2003 -->

2L1Z3078CA, 2L1Z3079CA
6L1Z3078AA, 6L1Z3078BA
6L1Z3079AA, 6L1Z3079BA

2L1Z3A130CA, 6L1Z3A130A

2L1Z3280FA, 2L1Z3280GA

7L1Z5K484AB

5L1Z5K484AA, 6L1Z5K484AA

2108023, 2L1Z5K483AA
2L1Z5K483AD, 2L1Z5K484AD

2L1Z5K484AB

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

38

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

NAVIGATOR

LINCOLN

2003 - 2006

NAVIGATOR

FO1040
BALL JOINT FRONT LOWER

FO6134

CONTROL ARM (WITH BALL JOINT)

FRONT UPPER RH

FO6135

CONTROL ARM (WITH BALL JOINT)

FRONT UPPER LH

LC6001

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

LC6002

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

FO1064
BALL JOINT FRONT UPPER

FO2055
TIE ROD END RH

FO2056
TIE ROD END LH

FO3040
AXIAL JOINT

FO3041
AXIAL JOINT

Weight : 3,500 kg /7.716 Ib
Material Type : Forged Steel

Weight : 3,500 kg /7.716 Ib
Material Type : Forged Steel

Weight : 8,500 kg /18.739 Ib
Material Type : Aluminum

Weight : 8,500 kg /18.739 Ib
Material Type : Aluminum

Weight : 0,68 kg / 1.499 Ib
Ball Pin Thread Size : M16X2,0
Ball Joint Body Diameter : @44

Weight : 0,500 kg /1.102 Ib

Weight : 1,17 kg /2.579 Ib

Weight : 1,17 kg /2.579 Ib
Length : 142 mm /5.59 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X2
Ball Pin Cone Diameter : @16

Weight : 0,784 kg /1.728 Ib
Length : 285 mm /11.22 inch
Body Thread Size : M18X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,775 kg /1.709 Ib

£

4L1Z3084CA, 6L1Z23084BA

4L1Z3085CA, 6L123085BA

2L1Z3078AB, 6L1Z3078AA
6L1Z3078BA

2L1Z3079BA, 2L1Z3079CA
6L1Z3079AA, 6L1Z3079BA

2007 - 2014

7L1Z3050B, 9L3Z3050A
K500008

FL3Z3084B*, FL3Z3085B*

7L1Z3A130R

7L1Z3A130L

7L1Z3280A, 9L3Z3280A
AL3Z3280A

BL3Z3280A, FL3Z3280A
FR3Z3280A, GR3Z3280C

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

39

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER LINCOLN
__________________________________________________________________________________________________________|

NAVIGATOR 1] 2007 - 2014
=—P- FO4059 Weight : 0,51 kg /1.124 Ib
- eight : 0, g /1.
LINK STABILIZER FRONT Material Type : Gelik 7L1Z5K483B, K750074

Weight : 0,382 kg /0.842 Ib

FO4072A Material Type : Gelik

LINK STABILIZER REAR Length : 201 mm /7.91 inch 7L1Z5K484AB
Ball Pin Thread Size : M10X1,5
Note : STEEL TYPE (METAL)

* i
s 41.3Z3084AA, 4L.3Z3084AB
FO6123 L1Z3084BR, 6L.3Z3084AR
Weight : 3,638 kg /8.020 Ib 67L 1:;%% 84 A’ ngzggz A
CONTROL ARM (WITH BALL JOINT) | Material Type : Forged Steel !
FRONT UPPER RH BL3Z3084A, EL3Z3084A
EL3Z3084B, FL3Z3084A
® 41.3Z3085AA, 4L.3Z3085AB
FO6124 6L1Z3085BR, 6L.3Z3085AL
l Weight : 3,638 kg /8.020 Ib ’

7L1Z3085A, 9L3Z3085A
CONTROL ARM (WITH BALL JOINT) = Material T ' F d Steel ’
FRONT UPPER IEH ) aterial Type - Forge ee BL3Z3085A, EL3Z3085A

EL3Z3085B, FL3Z3085A

FO6144
Weight : 9,600 kg /21.164 Ib

CONTROL ARM (W|TH BALL JOlNT) Material Type : Sheet Metal
FRONT LOWER RH

7L1Z3078A, 9L3Z3078A

FO6145 .

Weight : 9,600 kg /21.164 Ib
CONTROL ARM (WITH BALL JOINT) ' Material Type : Sheet Metal
FRONT LOWER LH

7L1Z3079A, 9L3Z3079A

FO9038 Weight : 2,600 kg /5.732 Ib
eight : 2, g /5.
®——@  ConTROL ARV REARLOWER Material Type : Steel Tube TL1ZBA9T2AA, JLIZBAST2A
FORWARD
FO9039 Weight : 1,400 kg / 3.086 Ib
eight : 1, g /3.
> € conrroL ARMREAR UPPER Material Type : Steel Tube 711255004, 7L1255008
FORWARD
FO9040 _
Weight : 2,230 kg /4.916 Ib 7L1Z5500AA, JL1Z55008
’ ®  CONTROL ARM REAR LOWER Material Type : Sheet Metal JL1Z5500C
FORWARD
4L3Z3084AB, 4L3Z3085AB
FO11084 i : ’
2 gha,f.s"s f':ontt/URear) + Front 6L3Z3084AR, 6L3Z3085AL
4 _‘. BUSH FOR CONTROL ARM FRONT W°‘°f' 'h°t” A ;‘7’2 ) p;)zrszg o 7L1Z3084A, 7L1Z3085A
~ UFFER eight : 2.270 kg 75 9L373084A, 9L3Z3085A
4L3Z3084AB, 4L3Z3085AB
FO11084K Chassis (Front / Rear) : Front '
po 3 Po:;:)':f;g:ﬂ Upi‘:r) ron 6L3Z3084AR, 6L.3Z3085AL
W BUSH FOR CONTROL ARM FRONT ' 7L1Z3084A, 7L1Z3085A
=5 UPPER KIT Weight : 0.752 kg /1.658 Ib '

9L3Z3084A, 9L3Z3085A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

40 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

NAVIGATOR

LINCOLN

2007 - 2014

- FO11163
BUSH FOR CONTROL ARM REAR
UPPER FORWARD

FO12207
STRUT MOUNTING FRONT

ME13001

’ STEERING BELOW

NAVIGATOR

Chassis (Front / Rear) : Rear
Position : Upper Forward
Weight : 0,410 kg / 0.904 Ib

Chassis (Front / Rear) : Front

Weight : 2,597 kg /5.725 Ib

Weight : 0,070 kg /0.154 Ib

Il FACELIFT

7L1Z5500A*, 7L1Z5500B*

7L1Z18A099C, 7L1Z18A099D

2204601000, 2204601000SK
2204630296, A2204630296

2015 - 2017

. FO1064
‘ BALL JOINT FRONT UPPER
-
FO6123

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER RH

FO6124

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER LH

FO9038

¥ 3 CONTROL ARM REAR LOWER
FORWARD

FO9039

: CONTROL ARM REAR UPPER

FORWARD

FO9040

$———8  CONTROL ARM REAR LOWER

FORWARD

FO11084

BUSH FOR CONTROL ARM FRONT
UPPER

o ;

Weight : 0,500 kg /1.102 Ib

Weight : 3,638 kg /8.020 Ib
Material Type : Forged Steel

Weight : 3,638 kg /8.020 Ib
Material Type : Forged Steel

Weight : 2,600 kg /5.732 Ib
Material Type : Steel Tube

Weight : 1,400 kg / 3.086 Ib
Material Type : Steel Tube

Weight : 2,230 kg /4.916 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Front
Position : Front Upper
Weight : 0.376 kg /0.829 Ib

FL3Z3084B*, FL3Z23085B*

41L.3Z3084AA, 4L.3Z3084AB

6L1Z3084BR, 6L.3Z3084AR
7L1Z3084A, 9L3Z3084A
BL3Z3084A, EL3Z3084A
EL3Z3084B, FL3Z3084A

4L3Z3085AA, 4L.3Z3085AB

6L1Z3085BR, 6L3Z3085AL
7L1Z3085A, 9L3Z3085A
BL3Z3085A, EL3Z3085A
EL3Z3085B, FL3Z3085A

TL1Z5A972AA, JL1Z5A972A

7L1Z5500A, 7L125500B

7L1Z5500AA, JL1Z5500B
JL1Z5500C

4L.3Z3084AB, 4L3Z3085AB

6L3Z3084AR, 6L3Z3085AL
7L1Z3084A, 7L1Z3085A
9L3Z3084A, 9L3Z3085A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

41

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER LINCOLN
__________________________________________________________________________________________________________|

NAVIGATOR Il FACELIFT 2015 - 2017

41L.3Z3084AB, 4L.3Z3085AB

FO11084K i s
- gha_f_s's fFFm”tt’URear) + Front 6L3Z3084AR, 6L3Z3085AL
‘¥ &  BUSHFORCONTROLARMFRONT 'o8"80 TO% PPl 7L1Z3084A, 7L1Z3085A
UPPER KIT elgnt - B.fos kg 1. 9L3Z3084A, 9L.3Z3085A
R FO11163 Chassis (Front / Rear) : Rear
BUSH FOR CONTROL ARM REAR Position : Upper Forward 7L1Z5500A%, 7L1Z5500B*
UPPER FORWARD Weight : 0,410 kg / 0.904 Ib
FO12207

Chassis (Front / Rear) : Front

7L1Z18A 7L1Z18A099D
STRUT MOUNTING FRONT Weight : 2,597 kg /5.725 Ib 8A099C, 8A099

NAVIGATOR vV 2018 -

% FO1060 Welght.: 0,715kg /1.576 Ib
Cone Size [mm] : @19,2 FL3Z3050A, FL3Z3050B
BALL JOINT FRONT LOWER Ball Pin Thread Size : M14X2 FL3Z3078B*, FL3Z3079B*

Ball Joint Body Diameter : @44,5

FO1064

BALL JOINT FRONT UPPER Weight : 0,500 kg /1.102 Ib FL3Z3084B*, FL3Z23085B*

FO6167 Weight : 2,155 kg /4.751 Ib
eight : 2, g /4.
CONTROL ARM (WITH BALL JOINT) | Material Type : Sheet Metal LoaeeE
FRONT UPPER RH
FO6168 Weight : 2,155 kg /4.751 Ib
eight : 2, g /4. FL3Z3085B

CONTROL ARM (WITH BALL JOINT) | Material Type : Sheet Metal
FRONT UPPER LH

EL1Z3078A, EL3Z3078A

FO6171

Weight : 10,025 kg /22.101 Ib FL3Z3078A, FL3Z3078B
CONTROL ARM (WITH BALL JOINT) ' Material Type : Sheet Metal FL3Z3078C, JL1Z3078A
FRONT LOWER RH JL123078B

EL1Z3079A, EL3Z3079A

FO6172

Weight : 10,025 kg /22.101 Ib FL3Z3079A, FL3Z3079B
CONTROL ARM (WITH BALL JOINT) = Material Type : Sheet Metal FL3Z3079C, JL1Z3079A
FRONT LOWER LH P

4L.3Z3084AB, 4L3Z3085AB

6L3Z3084AR, 6L3Z3085AL
7L1Z3084A, 7L1Z3085A
9L3Z3084A, 9L3Z3085A

FO11084 Chassis (Front / Rear) : Front

BUSH FOR CONTROL ARM FRONT | Position : Front Upper
UPPER Weight : 0.376 kg /0.829 Ib

.Awﬂu,.,

P

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

42 info@riw.com.tr



RIW

NAVIGATOR

STEERING & SUSPENSION
MANUFACTURER

v

LINCOLN

2018 -

W
c

TOWN CAR

FO11084K

BUSH FOR CONTROL ARM FRONT
UPPER KIT

FO11089

BUSH FOR CONTROL ARM FRONT
UPPER

FO11098

BUSH FOR CONTROL ARM FRONT
LOWER

FO12207
STRUT MOUNTING FRONT

Chassis (Front / Rear) : Front
Position : Front Upper
Weight : 0.752 kg / 1.658 Ib

Chassis (Front / Rear) : Front
Position : Upper
Weight : 0,318 kg /0.701 Ib

Chassis (Front / Rear) : Front
Position : Lower
Weight : 0,675 kg /1.488 Ib

Chassis (Front / Rear) : Front
Weight : 2,597 kg /5.725 Ib

41L.3Z3084AB, 4L.3Z3085AB

6L3Z3084AR, 6L3Z3085AL
7L1Z3084A, 7L1Z3085A
9L3Z3084A, 9L3Z3085A

AL3Z3084B*, AL323085B*

FL3Z3078B*, FL3Z3079B*

7L1Z18A099C, 7L1Z18A099D

1981 - 1990

—d

TOWN CAR

FO2077
TIE ROD END OUTER

FO2089
TIE ROD END INNER

CV4056
LINK STABILIZER FRONT

FO7002
IDLER ARM FRONT

Weight : 0,450 kg /0.992 Ib
Length : 71,1 mm /2.80 inch

Weight : 0,561 kg /1.237 Ib
Length : 165 mm /6.50 inch

Weight : 0,182 kg /0.401 Ib
Material Type : Bolt Type
Length : 1955 mm /7.70 inch

Chassis (Front / Rear) : Front
Weight : 1,165 kg /2.568 Ib

2W7Z3A130A, 2W7Z3A130AA
DYAZ3A130A, F3AZ3A130A
FS5AZ3A130A

2WT7Z3A131A, 2W7Z3A131AA
DOAZ3A131A, F5AZ3A131A

25784241

D9AZ3355A, E9QAZ3355A

1991 - 1994

FO2077
TIE ROD END OUTER

Weight : 0,450 kg /0.992 Ib
Length : 71,1 mm /2.80 inch

2W7Z3A130A, 2W7Z3A130AA
DOAZ3A130A, F3AZ3A130A
FS5AZ3A130A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

43

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

LINCOLN

TOWN CAR 1991 - 1994

e e

.4
¢
|
|
. 4

TOWN CAR

FO2089
TIE ROD END INNER

CV4043
LINK STABILIZER FRONT

FO7002
IDLER ARM FRONT

FO11056

BUSH FOR CONTROL ARM UPPER
SMALL

FO11057

BUSH FOR CONTROL ARM UPPER
BIG

FO11058K

BUSH FOR CONTROL ARM UPPER
SMALL AND BIG (KIT)

FO12180
ENGINE MOUNTING FRONT RH

Weight : 0,561 kg /1.237 Ib
Length : 165 mm /6.50 inch

Weight : 0,314 kg / 0.692 Ib
Material Type : Bolt Type
Length : 220 mm / 8.66 inch

Chassis (Front / Rear) : Front
Weight : 1,165 kg /2.568 Ib

Position : Upper Left And Right
Weight : 0.181 kg /0.399 Ib

Position : Upper Left And Right
Weight : 0.2 kg /0.441 Ib

Position : Upper Left And Right
Weight : 0.381 kg /0.840 Ib
Note : BURC KIT

Chassis (Front / Rear) : Front
Position : Right
Weight : 1,702 kg /3.752 Ib

2WT7Z3A131A, 2W7Z3A131AA
DOAZ3A131A, F5AZ3A131A

15963924, 25747956
4656260AA, 6W1Z5664AA
FOVY5A486A, F1VY5664A

FAZZ5A486A

DOAZ3355A, E9AZ3355A

DY9AZ3068A*, D9AZ3068A

DOAZ3068A**, DOAZ3068A

DOAZ3068A

F1VY6038A, F2AZ6038A
F47YG6038A, FAAZ6038A
F4VYG6038A

1995 - 1997

FO1035
BALL JOINT FRONT UPPER

FO1061
BALL JOINT FRONT LOWER

FO2077
TIE ROD END OUTER

Weight : 0,801 kg /1.766 Ib

Weight : 0,627 kg /1.382 Ib

Weight : 0,450 kg /0.992 Ib
Length : 71,1 mm /2.80 inch

F5AZ3049A, F6AZ3049AA
F7AZ3049AA

2W7Z3050AA, FBAZ3050A
F8AZ3050AA

2W7Z3A130A, 2W7Z3A130AA
DOAZ3A130A, F3AZ3A130A
FS5AZ3A130A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

44

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

TOWN CAR

LINCOLN

1995 - 1997

FO2089
TIE ROD END INNER

e e

\4

P
<
—d
=
|

CV4043
LINK STABILIZER FRONT

FO4039
LINK STABILIZER FRONT

FO6165

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

FO6166

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

FO7002
IDLER ARM FRONT

FO11059
BUSH FOR WISHBONE LOWER BIG

FO11060
BUSH FOR CONTROL ARM UPPER

FO11060K

BUSH KIT FOR CONTROL ARM
UPPER

FO11110
BUSH FOR CONTROL ARM FRONT

FO11111
BUSH FOR CONTROL ARM FRONT

Weight : 0,561 kg /1.237 Ib
Length : 165 mm /6.50 inch

Weight : 0,314 kg / 0.692 Ib
Material Type : Bolt Type
Length : 220 mm / 8.66 inch

Weight : 0,287 kg /0.633 Ib
Material Type : Celik
Length : 160,5 mm /6.32 inch

Weight : 7,750 kg / 17.086 Ib
Material Type : Sheet Metal

Weight : 7,750 kg / 17.086 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Front
Weight : 1,165 kg /2.568 Ib

Position : Lower Left And Right

Chassis (Front / Rear) : Front
Position : Upper Left And Right
Weight : 0.205 kg / 0.452 Ib

Chassis (Front / Rear) : Front
Position : Upper Left And Right
Weight : 0.41 kg /0.904 Ib
Note : IKILI

Chassis (Front / Rear) : Front
Weight : 0,225 kg /0.496 Ib

Chassis (Front / Rear) : Front
Weight : 0,235 kg /0.518 Ib

2WT7Z3A131A, 2W7Z3A131AA
DOAZ3A131A, F5AZ3A131A

15963924, 25747956
4656260AA, 6W1Z5664AA
FOVY5A486A, F1VY5664A

FAZZ5A486A

FBAZ5KA484AA, FBAZ-5K484-AA

F6AZ3078AA, F6VZ3078AA
F7AZ3078BA, F7TAZ3078CA
F7VZ3078AA, F8VZ3078BA
XW1Z3078AB, XW1Z3078BA
XW1Z3078CA, XW1Z3078DA

FEAZ3079AA, F6VZ3079AA
F7AZ3079BA, F7TAZ3079CA
F7VZ3079AA, FBVZ3079AA
F8VZ3079BA, XW1Z3079BA
XW1Z3079CA, XW1Z3079DA

DOAZ3355A, EQAZ3355A

F1VY3079A

F5AC3068BA

F5AC3068BA

F7AZ3078BA, FTAZ3078C

FS5AC3068BA, FGVZ3078AA

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

45

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

TOWN CAR

LINCOLN

1995 - 1997

TOWN CAR

FO11804
CONTROL ARM BUSHING

FO12180
ENGINE MOUNTING FRONT RH

Chassis (Front / Rear) : Front

Weight : 0,460 kg /1.014 Ib

Chassis (Front / Rear) : Front

Position : Right
Weight : 1,702 kg /3.752 Ib

FS5AC3068BA, FGVZ3078AA
F7AZ3078BA, FTAZ3078C

F1VY6038A, F2AZ6038A
FA7YB038A, FAAZ6038A
F4VYG038A

1995 - 2002

FO1065
BALL JOINT FRONT UPPER

D
<

LC2005
TIE ROD END RH

LC2006
TIE ROD END LH

FO3021
AXIAL JOINT

CV4043
LINK STABILIZER FRONT

FO4064
LINK STABILIZER FRONT

FO6169

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER RH

FO6170

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER LH

Weight : 0,450 kg /0.992 Ib

Weight : 0,835 kg /1.841 Ib

Weight : 0,835 kg /1.841 Ib

Weight : 0,314 kg / 0.692 Ib
Material Type : Bolt Type
Length : 220 mm / 8.66 inch

Weight : 0,315 kg /0.694 Ib
Material Type : Celik

Length : 115 mm /4.53 inch
Note : Front Link Stabilizer

Weight : 2,195 kg /4.839 Ib
Material Type : Sheet Metal

Weight : 2,195 kg /4.839 Ib
Material Type : Sheet Metal

6W123084B*, 6W123085B*

3W1Z3A130AA, 3W1Z3A130BA
6W1Z3A130A

3W1Z3A130AB, 3W1Z3A130BB
6W1Z3A130B

9S4Z73280A

15963924, 25747956
4656260AA, 6W1Z5664AA
FOVY5A486A, F1VY5664A

F4ZZ5A486A

3W1Z5K484AA, 5W1Z5K484A
6W1Z5K484AA

4W1Z3084, 6W123084
6W1Z23084B, 6W123084S

4W1Z3085, 6W123085
6W1Z23085B, 6W1Z3085M

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

46

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

TOWN CAR

LINCOLN

1995 - 2002

FO9045
CONTROL ARM REAR

TOWN CAR

FO12221
STRUT MOUNTING UPPER

Weight : 1.486 kg /3.276 Ib
Material Type : Sheet Metal

Position : Upper
Weight : 0,711 kg / 1.567 Ib

3W1Z5A649AA, SW1Z5A649AA
8W1Z5A649A, FBAZ5A649AA

8W7Z18183A

1998 - 2002

e e

L
>

FO1035
BALL JOINT FRONT UPPER

FO1061
BALL JOINT FRONT LOWER

FO2077
TIE ROD END OUTER

FO2089
TIE ROD END INNER

CV4043
LINK STABILIZER FRONT

FO4039
LINK STABILIZER FRONT

FO4077
LINK STABILIZER FRONT

FO6165

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

Weight : 0,801 kg /1.766 Ib

Weight : 0,627 kg /1.382 Ib

Weight : 0,450 kg /0.992 Ib
Length : 71,1 mm /2.80 inch

Weight : 0,561 kg /1.237 Ib
Length : 165 mm /6.50 inch

Weight : 0,314 kg / 0.692 Ib
Material Type : Bolt Type
Length : 220 mm / 8.66 inch

Weight : 0,287 kg /0.633 Ib
Material Type : Celik
Length : 160,5 mm /6.32 inch

Weight : 0,401 kg /0.884 Ib
Material Type : Celik
Length : 160 mm /6.30 inch

Weight : 7,750 kg / 17.086 Ib
Material Type : Sheet Metal

FS5AZ3049A, F6AZ3049AA
F7AZ3049AA

2W7Z3050AA, FBAZ3050A
F8AZ3050AA

2W7Z3A130A, 2W7Z3A130AA
DYAZ3A130A, F3AZ3A130A
FS5AZ3A130A

2WT7Z3A131A, 2W7Z3A131AA
DOAZ3A131A, F5AZ3A131A

15963924, 25747956
4656260AA, 6W1Z5664AA
FOVY5A486A, F1VY5664A

F4ZZ5A486A

FB8AZ5KA484AA, FBAZ-5K484-AA

FS5AZ5K484A, FSAZ6KA484AA
FBAZ5K484AA

FEAZ3078AA, F6VZ3078AA
F7AZ3078BA, F7TAZ3078CA
F7VZ3078AA, F8VZ3078BA
XW1Z3078AB, XW1Z3078BA
XW1Z3078CA, XW1Z3078DA

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

47

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

LINCOLN

TOWN CAR 1998 - 2002

<
oy
=
||

o &

FO6166

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

FO9045
CONTROL ARM REAR

FO7002
IDLER ARM FRONT

FO11059
BUSH FOR WISHBONE LOWER BIG

FO11060
BUSH FOR CONTROL ARM UPPER

FO11060K

BUSH KIT FOR CONTROL ARM
UPPER

FO11110
BUSH FOR CONTROL ARM FRONT

FO11111
BUSH FOR CONTROL ARM FRONT

FO11804
CONTROL ARM BUSHING

FO12133
STABILISER MOUNTING

FO12133K
STABILISER MOUNTING KIT

Weight : 7,750 kg / 17.086 Ib
Material Type : Sheet Metal

Weight : 1.486 kg /3.276 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Front
Weight : 1,165 kg /2.568 Ib

Position : Lower Left And Right

Chassis (Front / Rear) : Front
Position : Upper Left And Right
Weight : 0.205 kg /0.452 Ib

Chassis (Front / Rear) : Front
Position : Upper Left And Right
Weight : 0.41 kg /0.904 Ib
Note : IKILI

Chassis (Front / Rear) : Front
Weight : 0,225 kg / 0.496 Ib

Chassis (Front / Rear) : Front
Weight : 0,235 kg /0.518 Ib

Chassis (Front / Rear) : Front
Weight : 0,460 kg /1.014 Ib

Weight : 0,085 kg /0.187 Ib
Material Type : Rubber

Weight : 0,17 kg /0.375 Ib
Material Type : Rubber

FBAZ3079AA, F6VZ3079AA
F7AZ3079BA, F7TAZ3079CA
F7VZ3079AA, FBVZ3079AA
F8VZ3079BA, XW1Z3079BA
XW1Z3079CA, XW1Z3079DA

3W1Z5A649AA, SW1Z5A649AA
8W1Z5A649A, FBAZ5A649AA

DOAZ3355A, E9AZ3355A

F1VY3079A

FS5AC3068BA

F5AC3068BA

F7AZ3078BA, FTAZ3078C

F5AC3068BA, F6VZ3078AA

F5AC3068BA, F6VZ3078AA
F7AZ3078BA, F7TAZ3078C

FOVY5493B

FOVY5493B

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

48

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER LINCOLN
__________________________________________________________________________________________________________|

VERSAILLES 1977 - 1980
M  cpaoos Weight : 0,220 kg /0.485 Ib
% ‘ LINK STABILIZER FRONT Material Type : Bolt Type 25679063, 3879218
. Length : 145 mm /5.71 inch
CD4018 Weight : 0,215 kg /0.474 Ib
e Material Type : Bolt Type 25679063, 25702353

LINK STABILIZER FRONT
Length : 158 mm /6.22 inch

FO11112 Chassis (Front / Rear) : Front
BUSH FOR CONTROL ARM FRONT | Position : Lower D5DZ3069A, D7DZ3069B
LOWER Weight : 0,285 kg /0.628 Ib

ZEPHYR 2006 - 2006

FO12177
@ - ® Chassis (Front / Rear) : Front 7H6Z6068CA, BESZ6068A
- ENGINE MOUNTING FRONT Weight : 0,730 kg / 1.609 Ib 8E5Z6068D, 8BESZ6068A
8HG6Z6068A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

49 info@riw.com.tr



RIW

NOTES




le STEERING & SUSPENSION
MANUFACTURER

NOTES

Product Code Additional Information

CVv4043
LINK STABILIZER FRONT

CV4056
LINK STABILIZER FRONT

FO1048
BALL JOINT FRONT LOWER

FO1058
BALL JOINT FRONT LOWER

FO1059
BALL JOINT FRONT LOWER

FO11051
BUSH

FO11051K
BUSH KIT

FO11056
BUSH FOR CONTROL ARM UPPER SMALL

FO11057
BUSH FOR CONTROL ARM UPPER BIG

FO11058K

BUSH FOR CONTROL ARM UPPER SMALL
AND BIG (KIT)

FO11084K

BUSH FOR CONTROL ARM FRONT UPPER
KIT

FO11089
BUSH FOR CONTROL ARM FRONT UPPER

FO11094

BUSH OUTER FOR CONTROL ARM FRONT
LOWER

FO11095

BUSH INNER FOR CONTROL ARM FRONT
LOWER

FO11112
BUSH FOR CONTROL ARM FRONT LOWER

FO11113K

BUSH KIT FOR CONTROL ARM FRONT
UPPER

FO11120
BUSH FOR CONTROL ARM FRONT LOWER

CHRYSLER NEON: 2000 - 2002 / PLYMOUTH NEON: 2000 - 2001

CHEVROLET TRAILBLAZER YEARS ONLY: 2008-2009 / GMC ENVOY YEARS ONLY: 2008-2009 /
OLDSMOBILE VISTA CRUISER YEARS ONLY: 1971-194 / PLYMOUTH VALIANT YEARS ONLY:
1965-1972 / SAAB 9-7X YEARS ONLY: 2008-2009

LINCOLN AVIATOR: 2002 - 2005 / LINCOLN NAVIGATOR: 1998 - 2002

4WD

FOR VEHICLES WITH GVW UP TO 3850 KG & 8500 LBS

LINCOLN NAVIGATOR: 1998 - 2002

LINCOLN NAVIGATOR: 1998 - 2002

SMALL

BIG

KIT = FO11056 and FO11057

2 Pieces in 1 Box

FOR VEHICLE WITH SVT RAPTOR / YEAR ONLY: 2010-2014

4WD

4WD

MERCURY COMET YEARS ONLY: 1966-1977

2 PIECES IN 1 BOX

AWD / FORD FLEX YEARS ONLY :2010-2012 / FORD TAURUS YEARS ONLY : 2008-2012



le STEERING & SUSPENSION
MANUFACTURER

Additional Information

NOTES

Product Code

FO11142

BUSH BIG FOR CONTROL ARM FRONT
LOWER

FO6196
BUSH SMALL FOR CONTROL ARM FRONT

LOWER

FO11143 FO6196

FO12133K
STABILISER MOUNTING KIT

2 PIECES IN 1 BOX

FO12220
STRUT MOUNTING FRONT

FORD EDGE YEARS ONLY : 2007-2009

FO2059

TIE ROD END OUTER

FOR USA MARKET
TIE ROD END RH
FO2060 FOR USA MARKET
TIE ROD END LH
FO2067 D
TIE ROD END
FO2077

MERCURY COLONY PARK YEAR ONLY: 1987-1991

FO2100
TIE ROD END RH

YEAR ONLY: 2010-2012

FO2101
TIE ROD END LH

YEAR ONLY: 2010-2012

AXIAL JOINT

FO2107 RWD

TIE ROD END

FO3029 FORD TAURUS: 2010 - 2015
AXIAL JOINT

FO3054 YEAR ONLY: 2010-2012
AXIAL JOINT

FO3057 4WD

AXIAL JOINT

FO3057 4WD

AXIAL JOINT

FO3058 2WD

AXIAL JOINT

FO3062

YEARS ONLY :2010-2012




le STEERING & SUSPENSION
MANUFACTURER

NOTES

Product Code Additional Information

FO4072A
LINK STABILIZER REAR

FO4079
LINK STABILIZER REAR

FO4080
LINK STABILIZER FRONT

FO4083
LINK STABILIZER REAR

FO4091
LINK STABILIZER FRONT

FO4092
LINK STABILIZER FRONT

FO4113A
LINK STABILIZER FRONT RH

FO4114A
LINK STABILIZER FRONT LH

FO6115

WISHBONE (WITH BALL JOINT) FRONT
UPPER RH

FO6116

WISHBONE (WITH BALL JOINT) FRONT
UPPER LH

FO6119

WISHBONE (WITH BALL JOINT) FRONT
LOWER RH

FO6120

WISHBONE (WITH BALL JOINT) FRONT
LOWER LH

FO6123

CONTROL ARM (WITH BALL JOINT) FRONT
UPPER RH

FO6124

CONTROL ARM (WITH BALL JOINT) FRONT
UPPER LH

FO6134

CONTROL ARM (WITH BALL JOINT) FRONT
UPPER RH

FO6134

CONTROL ARM (WITH BALL JOINT) FRONT
UPPER RH

FO6135

CONTROL ARM (WITH BALL JOINT) FRONT
UPPER LH

STEEL TYPE (METAL)

HEAVY DUTY DESIGN / SEDAN / LINCOLN CONTINENTAL YEARS ONLY: 1984-1991

FORD GRANADA YEARS ONLY: 1981-1982 / FORD LTD YEARS ONLY: 1984-1985 / FORD

THUNDERBIRD YEARS ONLY: 1987-1988

FORD EXPEDITION YEARS ONLY: 2005-2006 / LINCOLN NAVIGATOR YEARS ONLY: 2005-2006

RWD

4WD

YEAR ONLY: 2009

YEAR ONLY: 2009

4WD

4WD

4WD

4WD

LINCOLN MARK LT - ONLY: 2006-2008

LINCOLN MARK LT - ONLY: 2006-2008

WITH ADJUSTABLE SUSPENSION / FORD EXPEDITION YEARS ONLY: 2005-2006 / LINCOLN

NAVIGATOR YEARS ONLY: 2005-2006

WITH ADJUSTABLE SUSPENSION / FORD EXPEDITION YEARS ONLY: 2005-2006 / LINCOLN
NAVIGATOR YEARS ONLY: 2005-2006

WITH ADJUSTABLE SUSPENSION / FORD EXPEDITION YEARS ONLY: 2005-2006 / LINCOLN
NAVIGATOR YEARS ONLY: 2005-2006



STEERING & SUSPENSION
MANUFACTURER

RIW

NOTES

Product Code Additional Information

FO6135

CONTROL ARM (WITH BALL JOINT) FRONT
UPPER LH

FO6146

CONTROL ARM (WITH BALL JOINT) FRONT
UPPER RH

FO6147

CONTROL ARM (WITH BALL JOINT) FRONT
UPPER LH

FO6175

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER RH

FO6175K

CONTROL ARM (WITH BALL JOINT AND
BIG BUSH) FRONT LOWER RH

FO6176

CONTROL ARM (WITH BALL JOINT) FRONT
LOWER LH

FO6176K

CONTROL ARM (WITH BALL JOINT AND
BIG BUSH) FRONT LOWER LH

FO6177K

CONTROL ARM (WITH BALL JOINT AND
BIG BUSH) FRONT LOWER RH

FO6178K

CONTROL ARM (WITH BALL JOINT AND
BIG BUSH) FRONT LOWER LH

FO7001
IDLER ARM FRONT

FO7002
IDLER ARM FRONT

F09021
CONTROL ARM REAR UPPER

FO9030
CONTROL ARM REAR LOWER

FO9034
CONTROL ARM REAR UPPER RH

FO9035
CONTROL ARM REAR UPPER LH

FO9037
CONTROL ARM REAR UPPER

FO9056
CONTROL ARM REAR LOWER

WITH ADJUSTABLE SUSPENSION / FORD EXPEDITION YEARS ONLY: 2005-2006 / LINCOLN

NAVIGATOR YEARS ONLY: 2005-2006

4X4

4X4

WITHOUT BIG BUSH / FORD TAURUS YEARS ONLY: 2010-2012

WITH BIG BUSH / FORD TAURUS YEARS ONLY: 2010-2012

WITHOUT BIG BUSH / FORD TAURUS YEARS ONLY: 2010-2012

WITH BIG BUSH / FORD TAURUS YEARS ONLY: 2010-2012

WITH BIG BUSH

WITH BIG BUSH

2-1/2" BETWEEN MOUNT HOLES

FORD LTD CROWN VICTORIA YEARS ONLY : 1987-1991 / MERCURY COLONY PARK YEARS

ONLY : 1987-1991

LINCOLN MKZ : 2013 - 2017

WITHOUT PERFORMANCE PACKAGE

4X4

4X4

FORD EDGE YEARS ONLY: 2011-2014

YEARS ONLY :2011-2015



le STEERING & SUSPENSION
MANUFACTURER NOTES

Product Code Additional Information

JG10003 LINCOLN LS YEARS ONLY : 2000-2002 / FORD THUNDERBIRD YEAR ONLY : 2002
BUSH FOR CONTROL ARM REAR LOWER

JG1008 MOOG TYPE
BALL JOINT FRONT LOWER

JG11004 JAGUAR S-TYPE YEARS ONLY: 1999-2002 / FORD THUNDERBIRD YEARS ONLY: 2002

BUSH INNER FOR CONTROL ARM FRONT

LOWER

JG11005 JAGUAR S-TYPE YEARS ONLY: 1999-2002 / FORD THUNDERBIRD YEARS ONLY: 2002

BUSH OUTER FOR CONTROL ARM FRONT

LOWER

JG9010 UNTIL N38572 / LINCOLN LS YEARS ONLY : 2000-2002 / FORD THUNDERBIRD YEAR ONLY :
2002

CONTROL ARM REAR LOWER RH

JG9011 UNTIL N38572 / LINCOLN LS YEARS ONLY : 2000-2002 / FORD THUNDERBIRD YEAR ONLY :
CONTROL ARM REAR LOWER LH 2002

LC1002 LINCOLN NAVIGATOR: 1998 - 2002
BALL JOINT FRONT LOWER

LC1004 ONLY MEXICO MARKET

BALL JOINT FRONT LOWER

LC20012002 TIE ROD END = LC2001 and LC2002
TIE ROD ASSEMBLY REAR

LC2002 TORSION BAR

TIE ROD END

LC3006 LINCOLN NAVIGATOR: 1997 - 2002
AXIAL JOINT

LC3007 LINCOLN NAVIGATOR: 2003 —>
AXIAL JOINT

LC4018 LINCOLN NAVIGATOR: 1997 - 2002
LINK STABILIZER FRONT

LC4020 LINCOLN NAVIGATOR: 2003 >
LINK STABILIZER FRONT

LC4020 LINCOLN NAVIGATOR: 2003 -->
LINK STABILIZER FRONT

ME13001 FORD EXPEDITION YEARS ONLY: 2007-2010 / FORD F-150 YEARS ONLY: 2009-2010 / LINCOLN

STEERING BELOW NAVIGATOR YEARS ONLY: 2007-2010



